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1. The government is the one who said that political organizations are people who live in a particular ruling land?

a) laski

b) charner
c) Blundschil
d) Woodrow Wilson

muR vd;gJ murpayikg;Gfs; Fwpg;gpl;l Ml;rp epyj;jpy; thOk; kf;fshtu; vd;W $wpatu;.

m) y];fp
M) rhu;du;
,) gpsz;l;rpy; 
<) cl;Nuhtpy;rd;

2. Sovereingnty of the population landscape government which includes all these consists of four elements?

a) Government
     b) Population
  c) Grammer of the State
   d) State
kf;fs; njhif> epyg;gug;G> murhq;fk;> ,iwik ,it midj;ijAk; cs;slf;fpaJk; 4 $WghLfis nfhz;lJk; vJ?

m) murhq;fk;
  M) kf;fs; njhif
,) murpd; ,yf;fzk;
<) muR
3. Who is said to be the so called government of the people who are subject to the rule of law in a particular territory
a) Mac Iver
     b) Garner
  
c) Woodrow  Wilson   d) Laski
Fwpg;gpl;l epyg;gug;gpy; rl;l mikg;gpw;Fl;gl;bUf;Fk; kf;fNs muR vdg;gLfpwJ vd;W $wpatu; ahu;?

m) Nkf ;Itu;

M) fhu;du;
,) cl;Nuhtpy;;rd;

 <) y];fp

4. Who said that a particular regime is a society in which the people are divided and permanently located by the government with the dominance of other institutions one the land?

a) Laski
     b) Mac Iver  
c) Garner   d) Blundschil

Fwpg;gpl;l xU Ml;rp epyj;jpy; kw;w ];jhgdq;fspd; Nky; Mjpf;fk; nfhz;L murhq;fk;> kf;fs; vd;W gpupf;fg;gl;L epue;jukhf mike;Js;s rKjhak; muR MFk; vd;W $wpatu;. 

m) y];fp
M) Nkf ;Itu;

,) fhu;du;
<) gpsz;l;rpy;

5. Whose Statement  is that a government with 5040 citizens is desirable?

a) Garner
     b) Aristotle
     c) Plato     
d) Thucydides
Iahapuj;J ehw;gJ Fbkf;fs; nfhz;l muR tpUk;gj;jf;fJ MFk; ,J ahUila $w;W

m) fhu;du;
M) mup];lhl;by; 
,) gpNsl;Nlh

<) J}rpill];

6. Who said that a government with a small population and a government with a large population will not become a government?

a) Plato     b) Aristotle

c) Garner  
d) Laski
rpwpa kf;fs; njhifia nfhz;l muRk; ngupa kf;fs; njhifia nfhz;l muRk; murhfhJ vd;W $wpatu; ahu;? 

m); gpNsl;Nlh

M) mup];lhl;by; 
,) fhu;du;


<) y];fp

7. How people with all rights, including political rights are called?

a) Ordinary People    


b) Disfranchised People



c) Rights of the People
 
d) Citizen
murpay; cupikfs; cl;gl midj;J cupikfisAk; cila kf;fs; vt;thW miof;fg;gLtu;

m) rhjhuz kf;fs;

M) cupikaw;w kf;fs; 


,) cupikAs;s kf;fs;
<) Fbkf;fs;
8. Who said that land was not an essential element for the formation of the state

a) Duguit, Willoughby    
b) Garner, Aristotle


c) Toynbee, Jerry
 
d) Willoughby, Garner, Jerry

muR miktjw;F epyg;gFjp mj;jpahtrpakhd $WghL my;y vd;W my;y vd;W $wpatu;fs; ahu;?

m) fpl;> tpy;Nyhgp

M) fhu;du; mup];lhl;by;


,) lhapd;gp n[up

<) tpy;Nyhgp> fhu;du;> n[u;rp

9. Whose statement  is that good people makes good government and bad people makes bad government

a) Toynbee    
b) Aristotle

c) Jerry 
d) Benthem

ey;ykf;fs; ey;y muirAk; jPakf;fs; jPamuirAk; Vw;gLj;Jfpd;wdu; ,J ahUila $w;W?

m) lhapd;gp

M) mup];lhl;by;

,) n[up
<) ngd;jk;

10.  3287.263 square kilometres is a country that refers to which country?

a) Monaco    
b) India

c) Vatican 
d) Luxembourg

3287.263 r.fp.kP gug;gsTs;s ehNl ehlhFk; ,J ve;j ehl;il Fwpg;gpLtjhFk;.

m) nkhdhf;fh

M) ,e;jpah
  ,) thbfd;
   <) yf;rk;gu;f;

11. Which country has the smallest land area?

a) Luxembourg   
b) Vatican

c) Israel 

d) Switzerland
rpwpa epyg;gug;ig cila ehL vJ?

m) yf;rk;gu;f;

M) thbfd;

,) ,];Nuy;

<) ];tpl;ru;yhe;J 

12. Who said  that the government is a company that has the  sovereign powers.

a) Mussolini   

b) Hitler
c) C.F.Strong
d) Marshall

,iwik mjpfhuq;fis nrYj;Jk; xU epWtdk; murhq;fkhFk; vd;W $wpatu; ahu;? 

m) KNrhypdp

M) `pl;yu; 
,) C.F.];l;uhq;
<) khu;\y;

13. Who was the first  person coined the definion for  Soverignty?

a) Duguit  
 b) C.F.Strong
c) Sirjohn Sheely
    d) Jeanbodin
,iwikf;F Kjd; Kjyhf ,yf;fzk; tFj;jtu; ahu;?

m); Lfpl;

M) C.F. ];l;uhq;
,) ru;[hd; rPyp
<) [Pd; Nghbd; 

14. Who stated that the  only citizen of the country empowered to participate in the administration of the judiciary?

a) Sir John Sheely   
 b) Plato
c) Aristotle
    d) Jean Bodin

ePjpj;Jiw epu;thfj;jpy;gq;nfLj;Jf;nfhs;Sk; mjpfhuk; ngw;wtNu xU ehl;bd; 

Fbkfd; Mthu; vd;W $wpatu; ahu;?

m) ru;[hd; rPyp
  M) gpNsl;Nlh
,) mup];lhl;by;
<) [Pd; Nghbd;

15. How the  ruling community of a country is called

a) State         b) Government
    c) Executive   d) Legislature 
xU ehl;il MSk; r%fj;jpdu; vt;thW miof;fg;gLfpd;wdu;?

m) muR

M) murhq;fk;
,) epu;thfk;

<) rl;lj;Jiw

16. How is the part of the Constitution where the legislature sets us up and makes laws to govern the people?

a) Judiciary    b) Executive     c) Legislature
  d) Pressure Groups
rl;lkd;wq;fis mikf;fTk; kf;fis MStjw;fhd rl;lq;fis ,aw;wTk; rl;lq;fs; ,aw;wg;gLtjw;fhd Kiwfis $Wk; murpayikg;gpd; gFjp vt;thW miof;fg;gLfpwJ. 

m) ePjpj;Jiw


M) epu;thfj;Jiw 


,) rl;lk; ,aw;Wk; Jiw
<) nry;thf;F FOf;fs;

17. How is the part of the Constitution  called for running the country properly?

a) Legislature      b)  Executive   c) Judiciary    d) Govt Dept

ehl;bd; epu;thfj;ij xOq;fhf elj;Jtjw;fhd Fwpg;Gfs; nfhz;l gFjp vt;thW miof;fg;gLfpwJ. 

m) rl;lk; ,aw;Wk; Jiw  M) epu;thfj; Jiw 
,) ePjpj;Jiw
 <) muRj;Jiw

18. What is the so called sector set up to protect the basic rights of the people

a) Legislature    b) Govt Dept     c) Judiciary
    d) Executive
kf;fspd; mbg;gil cupikfisg; ghJfhf;f mikf;fg;gl;bUf;Fk; Jiw vt;thW miof;g;gLfpwJ.

m) rl;lk; ,aw;Wk; Jiw  M) muRj;Jiw ,) ePjpj;Jiw  <) epu;thfj;Jiw

19. What are the types of  the Constitution?

a) Written unwritten      
b) Flexible Constitution    
 

c) Rigid Constitution    
d) Unitary 
murpayikg;gpd; tiffs; ahit?

m) vOjg;gl;l> vOjg;glhj

M) nefpOk; mikg;G

  ,) nefpoh mikg;G


<) xw;iwahl;rp 
20. Which country has a Written Constitution?

a) England      
  b) India 
   c) Norway    
d) Sweden

vOjg;gl;l murpayikg;G fhzg;gLk; ehL vJ? 

m) ,q;fpyhe;J
M) ,e;jpah
,) ehu;Nt
<) RtPld;

21. Which country has an Unwritten Constitution ?

a) England      
  b) India 
   c) Sweden    
d) Norway

vOjg;glhj murpayikg;G fhzg;gLk; ehL vJ

m) ,q;fpyhe;J 
M) ,e;jpah
  ,) RtPld; 
<) ehu;Nt

22. When was the Constituent Assembly of India documented?

a) 1950      
  b) 1949 
   c) 1948    

d) 1947

,e;jpa murpayikg;G epu;za rig vg;NghJ Mtzkhf cUthf;fg;gl;lJ?

m) 1950

M) 1949
,) 1948
<) 1947

23. When was the constituent assembly of India implemented

a) 1945 March 24      
  
b) 1947 February 25 
   

c) 1950 January 26    

d) 1946 April 25

,e;jpa murpayikg;G epu;zarig vg;NghJ eilKiwg;gLj;jg;gl;lJ?

m) 1945 khu;r; 24


M) 1947 gpg;utup 25 

,) 1950 [dtup 26


<) 1946 Vg;uy; 25
24. How many documents are there in the US constituent Assembly

a) Three documents 
 
b) One document  

b)  Four documents  

d) Two documents

mnkupf;f murpayikg;G epu;zarigapy; vj;jid Mtzq;fs; cs;sd? 

m); %d;W Mtzq;fs;

M) xU Mtzk; 


,) ehd;F Mtzq;fs;

<) ,uz;L Mtzq;fs;

25. How many documents are there in the constituent assembly of India?

a) A document 

b) Three documents  

c) Four documents   
 d)Two documents

,e;jpa murpayikg;G epu;zarigapy; vj;jid Mtzq;fs; cs;sd?

m) xU Mtzk;  

M) %d;W Mtzq;fs;  

,) ehd;F Mtzq;fs;  
<) ,uz;L Mtzq;fs;
26. Under whose leadership the US constitutional committee was formed ?

a) Munroe  
b) Roosevelt   c) George Washington  d) Kennedy

mnkupf;f murpayikg;G FO ahUila jiyikapy; cUthf;fg;gl;lJ?

m) kd;Nwh
M) &];nty;l;   ,) [hu;[; th\pq;ld;
  ,) nfd;db 
27. By which the constitution is developed?

a) Amendment   b) People Assembly    c) Bill    d) Court

murpayikg;G vjd; %yk; tsu;r;rpailfpwJ?

m) jpUj;jq;fs;

M) kf;fs;rig
,) kNrhjh
<) ePjpkd;wk;

28. Amendments the bill is supported by a majority of members of the house of commons is referendum. In which countries  this system is  followed?

a) India


b) Canada Britian    

c) America Britain    

d) Switzerland Australia

jpUj;jq;fs; kNrhjhthf kf;fs; rigapy; ngUk;ghd;ik cWg;gpdu;fs; %yk; Mjupj;J epiwNtWtJ kf;fs; xg;gk; vd;W ngau; ,e;j Kiw ve;j ehLfspy; gpd;gw;wgLfpwJ?

m) ,e;jpah 



M) fdlh> gpupl;ld;

,) mnkupf;fh> gpupl;ld;

<) ];tpl;ru;yhe;J> M];jpNuypah

29. Who distinguished the Constutution as flexible and Rigid Constitution?
a) Lord Price 
    b) Plato
    c) Rousseau  
d)  Strong

nefpOk; murpayikg;G nefpoh murpayikg;G vd;w gpupj;J $wpatu; ahu;?

m) gpiu];gpuG
M) gpNsl;Nlh   ,) &Nrh

 <) ];l;uhq;

30. The procedure of amendment of a Constitution is difficult, that Constitution is called as ------- 
a) Flexible    


b) Rigid
   

c) Written  


d) Unwritten 

xU ehl;bd; rhjuzr; rl;lq;fisj; jpUj;Jtjw;F xU KiwAk; murpayikg;Gr; rl;lq;fisj; jpUj;Jtjw;F jdpg;gl;l xU KiwAk; gpd;gw;wgLkhdhy; mJ vt;thW miof;fg;gLfpwJ?

m) nefpOk; mikg;G


M) nefpoh mikg;G
,)  vOjg;gl;l mikg;G 


 <) vOjg;glhj mikg;G

31.  A same amendment  procedure to be followed to amend the ordinary laws and the Constitutional laws is known as --------
a) Rigid      
  


b) Not easily changeable 
   

c) Flexible Constitution    

d) Palimentary Constitution

rhjhuzr; rl;lj;ijAk;> murpayikg;G rl;lj;jpidAk; jpUj;Jtjw;F xNu khjpupahd jpUj;jKiw gpd;gw;wgLkhdhy; ------------ vd mwpag;gLfpwJ.
m) nefpoh



M) vspjpy; khw;wKbahj 

,) nefpOk; murpayikg;G

<) ghuhSkd;w murpayikg;G

32. Which country is the best example for the flexible Constitution.
a) England 
   b) France          c) Japan      d) Switzerland
nefpOk; murpayikg;Gf;F rpwe;j vLj;Jf;fhl;lhd ehL vJ?
m) ,q;fpyhe;J 
 M) gpuhd;]; 
,) [g;ghd;
<) ];tpl;ru;yhe;J
33. What are the systems of government called in terms of the political character of a country and the existing relations between the central government and the state government

a) Flexible Constitution      
  

b) Repubican System 
   

c) Parlimentary System    


d) Unitary,Federal
xU ehl;bd; murpd; jd;ikapd; mbg;gilapYk; kj;jpa murhq;fj;jpw;Fk; khepy murhq;fj;jpw;Fk; ,ilNa epyTk; cwTfspd; mbg;gilapYk; murpayikg;Gfs; vt;thW miof;fg;gLfpwJ? 

m) nefpOk; murpayikg;G


M) FbauRKiw

,) ghuhSkd;w Kiw


<) xw;iwahl;rp> $l;lhl;rp
34. What is it called if a government is under the Central Government

a) Federal       b) Dualism    c) Unitary System      d) Flexible Constitution
kj;jpa murhq;fj;jpd; fPo; xU murhq;fk; mikAkhdhy; mJ vt;thW miof;fg;gLfpwJ?

m) $l;lhl;rp




M) ,ul;ilahl;rp

,) xw;iwahl;rp Kiw


<) nefpoh murpayikg;G

35. Who would have said that a government would be formed under the Central Government but that it was a monarchical political system

a) Strong      b) Lord Price      c) Rousseau     d) Cant
  kj;jpa murpd; fPo; mikAk; muR kd;duhl;rp Kiw vdf;$wpatu; ahu;?

     m) ];l;uhq;f; 
M) gpiu]; gpuG 
,) &N]h  <) fhd;l;
36. Who said that the system by which several governments would come together to form a new state was federal

a) Alexander Hamilton      

b) Woodrow Wilson

c) John Kennedy    


d) C.F Strong

gy muRfs; Nru;e;J Gjpa muir Vw;gLj;Jk; KiwNa $l;lhl;rp vd;W $wpatu; ahu;?

m) mnyf;]he;ju; `hkpy;ld;

M) cl;Nuhtpy;rd;

,) [hd;nfd;db



<)  C.F. ];l;uhq;

37. Who said that federalism is a political arrangement that unites  the country and the rights of the states

a) C.F. Strong      b) Woodrow Wilson    c) Hamilton     d) Dicey
$l;lhl;rp vd;gJ ehl;bd; xUikghl;ilAk; khepyq;fspd; cupikiaAk; ,izf;fr; nra;Ak; Xu; murpay; Vw;ghlhFk; vd;W $wpatu; ahu;?

m) C.F. ];l;uhq;
    M) cl;Nuhhtpy;rd;
,) `hkpy;ld;
<) ilrp 

38. Which country is the best example of a Federal Government?

a) England         b) America    
 c) India     
  d) Russia

$l;lhl;rp muRf;F rpwe;j vLj;Jf;fhl;lhf tpsq;Fk; ehL vJ?

m) ,q;fpyhe;J
 M) mnkupf;fh
,) ,e;jpah
 <) u\;ah
39. All powers are vested to the Federal  Government , all the residuary powers are given  to the state  government. Give a good example for this

a) America          b) England    
 c) Russia   
   d) Canada

$l;lhl;rp muRf;F mjpfhuq;fis xJf;fp tpl;L vQ;rpa mjpfhuq;fs; midj;Jk; khepy muRf;F nfhLf;fg;gl;Ls;sJ ,jw;F rpwe;j v.fh. jUf>

m) mnkupf;fh
 M) ,q;fpyhe;J
,) u\;ah
<) fdlh

40. Which countryis the best example for  the fusion of Powers?
a) India          b) Canada    
    c) America   
   d) Russia

mjpfhu fyg;gpw;F rpwe;j vLj;Jf;fhl;lhd ehL vJ?
m) ,e;jpah

M) fdlh
,) mnkupf;fh
<) u\;ah

41. What is a people’s group that sets the National interest and progress through a join effort based on policy

a) Political Party         b) Bill   
   c) Constitution      d) Political Right

nfhs;ifapd; mbg;gilapy; $l;L Kaw;rpahy; Njrpa eyid Kd;Ndw;w mikf;Fk; kf;fs; FO vJ?

m) murpay; fl;rp
M) kNrhjh
,) murpayikg;G
<) murpay; cupik

42. Which rule cannot take place without the political party?
a) Parliament   

b) Representative  

   c) Administration  

d) Both Party Bi Party

murpay; fl;rpfs; ,y;yhtpl;lhy; ve;j kf;fshl;rp eilngw ,ayhJ?

m) ghuhSkd;wk;

M) gpujpepj;Jtk;


,) epu;thfj;Jiw

<) ,U fl;rp

43. Who said that the political parties seck to form a government based on certain principles?

 a) Finer      


b) Mac Iver   

 c) Woodrow Willson     
d) Burke

murpay; fl;rp vd;gJ rpy nfhs;ifapd; mbg;gilapy; murhq;fj;ij mikf;f Kw;gLk; vd;W $wpatu; ahu;?

m) igdu;


M) Nkf; Itu;


,) cl;Nuh tpy;rd;

<) gu;f;

44. Who said that organized opinion is a political party?

 a) Washington    
  b) Mac Iver     

 c) Burke         

 d) Disareli
xOq;fikf;fg;gl;l fUj;Jjhd; murpay; fl;rp vd;W $wpatu; ahu;?

m) th\pq;ld;
M) Nkf; Itu;


,) gu;f;

<) bruyp
45. What the parties need?

a) Administration     
 b) Plans 

c) Organization      
 d) Fund
fl;rpSf;F mtrpakhdJ vJ?

m) epu;thfk;


M) jpl;lq;fs;


,) mikg;G


<) epjp
46. Who said that a people’s group is a political party that seeks to advance the national interest through a collective effort based on certain principles.

a) Burke       
  

b) Finer   

   

c) Mac Iver         

 d) Disralei
rpy nfhs;ifapd; mbg;gilapy; $l;L Kaw;rpahy; Njrpa eyid Kd;Ndw;w mikf;Fk; kf;fs; FO murpay; fl;rpahFk; vd;W $wpatu; ahu;?

m) gu;;f;

M) igdu;


,) Nkf;Itu;

<) bruyp

47. Whih one is the function of the political parties? 
a) Constitutional Amendment       

b) Creating Public Opinion
c) Receipe of the Cabinet         

d) True Management

murpay; fl;rpfsp;d; gzpfspy; xd;W vJ?

m) murpay; mikg;G jpUj;jk;

M)  nghJkf;fs; fUj;ij cUthf;FtJ


,) Nfgpdl; rigapd; nray; Kiw

      <) cz;ik epu;tfhj;Jiw

48. In which century a single party system was appeared 
a) 20      

b) 13     
 c) 17         d) 16

xU fl;rp Kiw ve;j E}w;whz;by; Njhd;wpaJ

m) 20

M) 13

,) 17

<) 16

49. If there are only two parties  in a country, one is the ruling party and the other is the opposition.The party system is 
a) Biparty System      

b) A single party system

c) Multi party System    

d) Prime Minister

xU ehl;by; ,uz;L fl;rpfs; kl;Lk; ,Ue;J xd;W MSk; fl;rpahfTk; kw;wJ vjpu;fl;rpahfTk; nray;gl;lhy; mJ vf;fl;rp KiwahFk;.

m) ,U fl;rp Kiw


M) xU fl;rp Kiw

,) gy fl;rp Kiw


<) gpujku;

50. Give an example for the  multi party system

a) USA France      b) France India
   c) Russia USA   
d) England Iran

gy fl;rp Kiwf;F v.fh. jUf?

m) mnkupf;fh> gpuhd;];

    M) gpuhd;];> ,e;jpah
,) u\;ah> mnkupf;fh


<) ,q;fpyhe;J><uhd;

51. What are the two houses of the United States?
a) House of Representatives

b) Senate Council

c) People’s Council    


d) Cabinet
mnkupf;fh If;fpa ehLfspy; ,uz;L rigfs; ahit?

m) gpujpepjpfs; rig


M) nrdl; rig

,) kf;fs; rig> mikr;ru; rig
<) mikr;ru; rig
52. How many  amendments  have been made  in  the American political system so far?

 a) 25

b) 30

c) 17    
d) 5

mnkupf;f murpay; mikg;gpy; ,Jtiu vj;jid jpUj;jq;fs; nfhz;L tug;gl;ld.

m) 25

M) 30

,) 17

<)   5

53. If a Constituional amendement is to be made in India how many  members of the house must directly support it

a) Two – Thirds   


b) One–Third


c) Three-Quarters Will Come
d) Three Parts of Two

,e;jpahtpy; murpayikg;Gj; jpUj;jk; Ntz;Lkhdhy; rigapy; mku;e;J thf;fspf;Fk; cWg;gpdu;fspy; vg;gFjpapduhf Mjupf;f Ntz;Lk;.

m) %d;wpy; ,uz;L gFjpapdu;

M) %d;wpy; xU gFjpapdu;

,) ehd;fpy; %d;W gFjpapdu;

<) ,uz;by; %d;W gFjpapdu;

54. The Constitution of Switzerland cannot be made the  constitutional without the consent of the people.

a) Amendment

b) Bill
     c) Right
    d) Party

Rtpl;ru;yhe;jpy; murpayikg;gpy; kf;fspd; xg;Gjy; ,d;wp murpayikg;G ……………….. nfhs;s KbahJ.

m) jpUj;jk;
M) kNrhjh

,) cupik
<) fl;rp

55. Compulsory Referendum is practiced in which country

a) Switzerland
     b) America
c) France
d) England

fl;lha Fbnahg;g Kiw ve;j ehl;by; ifahsg;gLfpwJ

m) Rtpl;ru;yhe;J
M) mnkupf;fh
,) gpuhd;];
<) ,q;fpyhe;J

56. What protects the states  that if  they contribute to the constitutional amendment

 a) Rights
     
b) Duties

c) Bills
d) Laws

murpayikg;Gj; jpUj;jq;fspy; khepyq;fs; gq;fspf;fg;gLtjhy; khepyq;fspy; vJ fhf;fg;gLfpd;wd.

m) cupikfs;
M) flikfs;
,) kNrhjhf;fs;
<) rl;lq;fs;

57. ----------------------- develops by the Amendments
a) Constitution
     
b) Political Party
  c) State Party
 d) Laws

jpUj;jq;fshy; jhd; …………………. tsu;fpwJ.

m) murpayikg;G
M) murpay; fl;rp  ,) khepy fl;rp
<) rl;lq;fs;

58. Who said that the Conventions  are also the unwritten principles in the constitution

a) Mill
     b) Burke
  c) Abraham Lincoln
 d) Iver Jennings

tof;fhWfs; vd;git murpayikg;gpd; vOjg;glhj Nfhl;ghLfSk; vd;W $wpatu; ahu;?

m) kpy;
M) gu;f;
,) Mg;ufhk; ypq;fd;

<) Itu; n[d;dpq;f;];

59. Who said that the Conventions  is the norm within the constitution

a) Ansan
     
b) Burke
  c) Mill
 d) Ivar Jennings

tof;fhW vd;gJ murpayikg;gpy; cs;s tof;fkhFk; vd;W $wpatu; ahu;?

m) Md;rd;
M) gu;f;
,) kpy;
<) Itu; n[d;dpq;f;];

60. Which  President of  the United States elected  for the third time in 1940 and for the fourth time in 1944 during World War II

a) Roosevelt      


b) George Washington
   

c) Woodrow wilson
 

d) Abraham Lincoln

mnkupf;fhtpd; ve;j [dhjpgjp ,uz;lhtJ cyfg;Nghupd; NghJ 1940 y; %d;whk; KiwAk;> 1944 –y; ehd;fhk; KiwAk; Nghl;bapl;L [dhjpgjpahfj; Nju;e;njLf;fg;gl;lhu;.

m) &y;nty;l;



M) [hu;[; th\pq;ld;

,) cl;Nuhtpy;rd;


<) Mgpufhk; ypq;fd;

UNIT – II
1. Who was the Chairman of the parliament for the Cabinet Conventions?
 

 a) Prime Minister     
b) President
  
c) Minister
 d) President

mikr;ruit rk;ge;jg;gl;l tof;fhWfs; ghuhSkd;wj;jpd; ngUk;ghz;ikf; fl;rpapd; Ml;rp mikg;ghsu;fs; mjd; jiytu; ahu;?

m) gpujk ke;jpup
M) [dhjpgjp  ,) mikr;ru;
<) FbauR jiytu;

2. How many times when the  parliament is to be assembled for the parliamentary conventions?
a) 1     

b) 4  

c) 2
 
d) 6

ghuhSkd;wk; rk;ke;jg;gl;l tof;fhWfspd; ghuhSkd;wk; Mz;Lf;F vj;jid KiwahtJ $l;lg;gl Ntz;Lk;.

 m) 1

M) 4

,) 2

<) 6

3. Conventions is guarded the ---------------- of the  minorities.
a) Rights

b) Low  
  c) Voting rights
 
d) Bills

tof;fhWfs; rpWghz;ikapdupd; ………………. fhf;fg;gLfpd;wd.

 m) cupikfs;
  M) rl;lk;
 ,) thf;Fupikfs;
  <) kNrhjhf;fs;

4. How the  powers are divided between the  state and the central Government.
a) General Powers



b) Residual Powers  
  

c) Federal Powers 



d) Division of Powers 
kj;jpa murhq;fj;jpw;Fk;  khepy murhq;fj;jpw;Fk; vt;thW  mjpfhuq;fs; gpupf;fg;gLfpd;wd?
m) nghJthd mjpfhuq;fs;

M) vQ;rpa mjpfhuq;fs;
,) $l;lhl;rp mjpfhuq;fs;

<) mjpfhu gq;fPL
5. How modern Republican government are classified based on the relationship between the executive and the legistature

a) Parliament, Cabinet, Chair Government  
  

b) Federal, Local Government, Influence groups

c) Influence Groups leader system

d) Monopoly, Federal, Spalical Government

epu;thfj; Jiwf;Fk; rl;lkd;wj;jpw;Fk; ,ilNa cs;s njhlu;gpd; mbg;gilapy; jw;fhy Fbahl;rp murhq;fq;fs; vt;thW tifg;gLj;jg; gLfpwJ.

m) ghuhSkd;wwk;> mikr;ruit> jiytu; Kiw murhq;fk;

M) $l;lhl;rp> ];jy murhq;fk;> nry;thf;F FOf;fs;

,) nry;thf;F FOf;fs;> jiytu; Kiw

<) xw;iwahl;rp> $l;lhl;rp> ];jy murhq;fk;

6. Give two countries as an example where the parliamentary Government is practiced.
 a) India, England
b) Switzerland, China  
c) America 
   d) Russia

   ghuhSkd;w Kiw murhq;fk; nray;gLk; ehLfSf;F ,uz;L v/fh. jUf?

m),e;jpah> ,q;fpyhe;J
  M)Rtpl;ru;yhe;J rPdh
,)mnkupf;fh  ,)u\;ah
7. How the close relationship between the executive and the legislature is called?
a) Parliamentary system


b) Federal  
  

c) Power Distribution System 

d) Assembly System

epu;thfj;Jiwf;Fk; rl;lkd;wj;jpw;Fk; ,ilNa cs;s neUq;fpa njhlu;G vt;thW miof;fg;gLfpwJ?
m) ghuhSkd;w Kiw


M) $l;lhl;rp

,) mjpfhu gq;fPl;L Kiw


<) rl;lkd;w Kiw

8. From which country did the Indian Parliamentary System adopted ?

a) England
b) Canada
  c) Japan
 
d) China

,e;jpa ghuhSkd;w Kiw ve;j ehl;bypUe;J vLj;jhsg;gl;lJ?
m) ,q;fpyhe;J
M) fdlh
,) [g;ghd;

<) rPdh

9. What are the two types of executive system found in the parliamentary form of Government.
a) Nominal and real executive 
b) Local Government, Federal

c) Legislature, Judiciary 
d) Unitary, Federal
ghuhSkd;w Kiw murhq;fj;jpy; fhzg;gLk; ,U tifahd epu;thfj; Jiw ahit?

m) ngaustpyhd epu;thfk;> cz;ik epu;thfj;Jiw

M) ];jy murhq;fk;> $l;lhl;rp



,) rl;lkd;wk;> ePjpJiw

<) xw;iwahl;rp ,ul;ilahl;rp

10. Who is considered the head of the UK executive ?

 a) President
b) Queen
  
c) President
 
d) Minister

,q;fpyhe;jpy; epu;thfj;Jiw jiytuhf fUjg;gLgtu; ahh;?

m) FbauR jiytu;
  M) murp
,) [dhjpgjp

<) mikr;ru;

11. Who is considered to be the Executive Head of India?

 a) Prime Minster
b) President

c) The Queen
d) Minister

 ,e;jpahtpd; epu;thfj;Jiw jiytuhf fUjg;gLgtu; ahu;?

  m) gpujku;
M) [dhjpgjp

,) murp

<) mikr;ru;
12. What is the real executive branch?

a) Opposition
 
b) Legislature  

c) Parliament

 d) Ministry

cz;ikahd epu;thfj;Jiwahf nray;gLtJ vJ?

m) vjpu;fl;rp


M) rl;lj;Jiw

,) ghuhSkd;wk;

<) mikr;ruit

13. Who will be considered as Members of Parliament?

       a) Legislative Members



b) Opposition Party members
c) Prime Minister, Members of parliament
d) Judiciary

ghuhSkd;w cWg;gpdu;fshf fUjg;gLgtu; ahu;?

m) rl;lj;Jiwapdu;




M) vjpu;fl;rpapdu;

,) gpujk ke;jpup> ghuhSkd;w cWg;gpdu;fs;
<) ePjpj;Jiwapdu;

14. Who are the members of the majority party in parliament?

a) Prime Minster, Ministers

b) President





c) Opposition 



d) Members of parliament

ghuhSkd;wj;jpd; ngUk;ghd;ikf; fl;rp cWg;gpdu;fs; ahu;?

  m) gpujk ke;jpup> mikr;ru;fs;
M) [dhjpgjp

,) vjpu; fl;rpapdu;


<) ghuhSkd;w cWg;gpdu;fs;

15. Which country is the best example for the presenditial form of Government ?
a) China

b) America

c) England

d) Switzerland

jiytu; Kiw murhq;fj;jpw;Fr; rpwe;j vLj;Jf;fhl;lhf tpsq;Fk; ehL vJ?

m) rPdh

M) mnkupf;fh
,) ,q;fpyhe;J
<) Rtpu;l;yhe;J

16. Who was the first person explain the principles of the rule of law?

a) Rousseau

b) Karl Marx
c) Dicey 
d) Willoughby

rl;lj;jpd; Ml;rp vd;w jj;Jtj;ij Kjd; Kjyhf tpsf;fpatu; ahu;?

m) &Nrh

M) fhuy; khu;f;];

,) ilrp
<) tpy;Nyhgp 

17. Who wrote the book law of the constitution?

a) Rousseau

b) Dicey
c) Willoughby

d) L.D. White

murpayikg;gpd; rl;lk; vd;w E}iy vOjpatu; ahu;?

m) &Nrh

M) ilrp
,) tpy;Nyhgp


<) vy;.b. xapl;

18. Who said that the administrative law is to determine the organizational powers and duties of the ministerial department

a) Dicey

b) Jennings
c) Karl Marx
d) Rousseau
Ml;rpj;Jiw mYtypd; mikg;G mjpfhuq;fs; flikfs; Mfpatw;iwj; jPu;khdpg;gNj Ml;rpj;Jiw rl;lkhFk; vd;W $wpatu ahu;?

m) ilrp

M) n[d;dpq;f];
,) fhuy; khu;f;];
<) &Nrh

19. Who was the first to give the correct form and interpretation to the theory of Separation of Powers?

a) Rousseau 

b) Karl Marx

c) Dicey 
d) Montesquieu
mjpfhu gpuptpidf; Nfhl;ghl;bw;F Kjd;Kjyhf rupahd tbtKk; tpsf;fKk; nfhLj;jtu; ahu;?

m) &Nrh

M) fhuy;khu;f;];
,) ilrp
<) khz;l];f;a+
20.  The scholar who gave the theory of separation of power belongs to which country

a) France

b) England
c) America
d) China

mjpfhug; gpuptpidf; Nfhl;ghl;il mspj;j mwpQu; ve;j ehl;il rhu;e;jtu;?

m) gpuhd;];

M) ,q;fpyhe;J
,) mnkupf;fh
<) rPdh
21. On the basis of which country Montesquieu formed the theory of Separation of Powers ?
    
 a) England 
b) America

c) Japan 
d) Canada 

khz;l;];f;a+ ve;j ehl;il mbg;gilahf nfhz;L mjpfhug; gpuptpid     Nfhl;ghl;il tFj;jhu;?

m) ,q;fpyhe;J
M) mnkupf;fh
,) [g;ghd;
<) fdlh

22. Who wrote the book The Spirit of Laws?

a) Marx
          b) Rousseau

c) Dicey 
d) Montesquieu
 ‘rl;lq;fspd; fUg;nghUs;’ vd;w E}iy vOjpatu; ahu;?

m) khu;f;];    M) &Nrh
,) ilrp
<) khz;l;];f;a+
23. Who wrote the book Republic?

a) Dicey

b) Bodin
c) Lock
d) Karl Marx

FbauR vd;w E}iy vOjpatu; ahu;?

m) ilrp

M) Nghbd;
,) yhf;
<) fhuy; khu;f;];

24. Who wrote the book Civil Government?

a) Lock
b) Carl parks
c) Montesquieu
d) Aristotle

rptpy; murhq;fk; vd;w E}iy vOjpatu; ahu;?

m) yhf;

M) fhuy; khu;f;];   ,) khz;l;];f;A+
<) Nghbd;

25. Who was the Roman political scholar who spoke about obstacles and 

       balance

a) Marcelio

b) Bodin
c) Montesquieu
d) Cicero
   jilfisAk; rkepiyiaAk; gw;wp $wpa Nuhkhdpa murpay; mwpQu; ahu;?

m) khu;rpypNah
M) Nghbd;

,) khz;l;];f;a+
<) rprNuh
26.  Which Greek Scholar introduced the Seperation of Powers before Montesquieu?
a) Bodin

b) Cicero
c) Marcelio

d) Aristotle
khz;nl];f;A+tpw;F Kd;G mjpfhu gpuptpidf; Nfhl;ghl;il mwpKfg;gLj;jpa fpNuf;f mwpQu; ahu;?
m) Nghbd;
M) rprNrh
,) khu;rpypNah
<) mup];lhl;by;

27. Who was the fourteenth – century scholar who said that there should be   
       divisions between the Legislature and the executive 
a) Dicey

b) Marcelio

c) Bodin
d) Cicero

rl;lq;fs; ,aw;Wk; Jiwf;Fk; mtw;iwr; nray;gLj;Jk; Jiwf;Fk; ,ilNa gpupT   ,Uf;f Ntz;Lk; vd;W $wpa gjpdhd;fhk; E}w;whz;L mwpQu; ahu;?

m) ilrp

M) khu;rpypNah
,) Nghbd;

<) rprNuh

28.  Who said  that the Juduciary and the executive functioned separately in the book the 
        Republic.
a)  Dicey
b) Bodin
c) Cicero
d) Aristotle

FbauR vd;w E}ypy; ePjpj;JiwAk; epu;thfj;JiwAk; gpupe;J nray;gl Ntz;Lk;   vd;W $wpatu; ahu;>

m) ilrp

M) Nghbd;
,) rprNuh
<) mup];lhl;by;

29.  Who is the author of the book Laws and interpretations  of the UK?

 a) Aristotle

b) Cicero
c) Blackston

d) Bodin
,q;fpyhe;J rl;lq;fSf;F tpsf;fq;fs; vd;w E}iy vOjpatu; ahu;?

m) mup];lhl;by;
M) rprNuh
,) gpshf;];ld;
<) Nghbd;
30. Who said that people cannot live with freedom where the power to legislate and the   
      power to enforce it is vested.

a) Montesquieu
b) Willoughby

c) Blackston

d) Bodin

vq;F rl;lkpaw;Wk; mjpfhuKk; mijr; nray;gLj;Jk; mjpfhuKk; xg;gilf;fg;gl;Ls;sNjh mq;F kf;fs; Rje;jpuj;Jld; tho ,ayhJ vd;W $wpatu; ahu;?

m) khz;l;];f;A+

M) tpy;Nyhgp

,) gpshf;];ld;
<) Nghbd;

31. There is a close relationship between the legislature, executive and the Judiciary in 
       England how it is called?
a) Separation of powers

b) Fusion of Powers 
c) Local Government


d) Pressure  groups

,q;fpyhe;jpy; rl;lj;Jiw> epu;thfj;Jiw> ePjpj;Jiwf;F ,ilNa neUq;fpa njhlu;Gilajhf ,Uf;fpwJ mJ vt;thW miof;fg;gLfpwJ?

m) mjpfhu gpuptpid


M) mjpfhu fyg;G
,) ];jy Ml;rp



<) nry;thf;F FOf;fs;

32.  Who is the leader  of the cabinet in the parliamentary system?

a) Prime Minster

b) President
  c) Speaker
    d) Chief Minister

    ghuhSkd;w Kiwapy; mikr;ruitapd; jiytu; ahu;?

m) gpujk ke;jpup
M) [dhjpgjp

,) rghehafu;
  <) Kjyikr;ru;

33. Who is the leader of the majority party in the Parliament?
a) Chief Minister
b) President

c) Prime Minister
d) Speaker

 ghuhSkd;wj;jpd; ngUk;ghd;ikf; fl;rpapd; jiytu; ahu;?

m) Kjyikr;ru;

M) [dhjpgjp

,) gpujk ke;jpup <) rghehafu;

34. Who is the head of the administration in the parliamentary system?

a) Prime Minister
b) President

c) Vice President
d) Speaker

 ghuhSkd;w Kiwapy; epu;thfj; Jiwapd; jiytu; ahu;?

m) gpujk ke;jpup
M) [dhjpgjp
  ,) Jiz [dhjpgjp
 <) rghehafu;

35.  Which is the best example for the presidential form of Government?
a) America

b) England

c) China
d) Switzerland

 jiytu; Kiw murhq;fj;jpw;F rpwe;j vLj;Jf;fhl;L $Wf?

m) mnkupf;fh
M) ,q;fpyhe;J
,) rPdh

<) Rtpl;ru;yhe;J

36.  Who first explained the principle of the rule of law?

a) Rousseau


b) Marx
c) Dicey 
d) Montesquieu

rl;lj;jpd; Ml;rp vd;w jj;Jtj;ij Kjd;Kjyhf tpsf;fpatu; ahu;?

m) &Nrh

M) khu;f;];    ,) ilrp   
<) khz;l;];f;A+

37. Who is the father of Political Science?

a) Aristotle 
b) Montesquieu
c) Locke
d) Bodin
murpay; mwptpaypd; je;ij ahu;?

m) mup];lhl;by;
 M) khz;l;];f;A+
,) yhf;
<) Nghbd;

38. What is the main agency of a government?

a) Government
b) Courte
c) Society
d) Administrative Department
xU murhq;fj;jpd; Kf;fpa epWtdk; vJ?

m) muR

M) ePjpkd;wk;

,) rKjhak; <) Ml;rpj;Jiw
39. What are the organs of Government

a) Governing Body, Society

b) Legislature executive, Judiciary

c) Department of Education, Legislature 
d) Parliament, Municipality

murpd; cWg;Gf;fs; ahit:

m) Ml;rpkd;wk;> rKjhak;>


M) rl;lkd;wk;> epu;thfk;> ePjpJiw
,) fy;tpj;Jiw> rl;lj;Jiw

 <) ghuhSkd;wk;> efuhl;rp

40. Which is the oldest system found in the united kingdom in the world

a) Council

b) United States
c) Democracy
d) Monarchy

cyfj;jpNyNa [f;fpa Nguurpy; fhzg;gl;l kpfg; goikahd mikg;G vJ?

m) fTd;rpy; 
M) If;fpa muR
,) Fbahl;rp

<) Kbahl;rp

41.  What are the two kinds of Sovereignty ?
a) Internal and External 

b)Internal and Nominal 

c) External and Political

d) Political and Nominal 

,iwikapd; ,U tiffs; ahit?
m) cs; kw;Wk; ntsp  

M) cs; kw;Wk; ngausT  

,) ntsp kw;Wk; murpay;  
<)  murpay; kw;Wk; ngausT 
42. What is true sovereignty called when it is somewhere other than the 

head of state.

a) People’s Sovereignty

c) Nominal Sovereignty
b) Legal Sovereignty


d) Political Sovereignty

cz;ikahd ,iwik ehl;bd; jiytuplj;jpy; ,y;yhky; NtnwhU ,lj;jpy; ,Uf;Fk; NghJ mJ vt;thW miof;fg;gLk;?

m) kf;fspd; ,iwik


M) rl;lg;gbahd ,iwik

,) ngausT ,iwik


<) murpay; ,iwik

43. What are the components required for a federal system?

          a)Political Supremacy Government partition Independent Movement judiciary 

   b) Monopoly


          c) Flexible Structure

          d)  Sliding System

$l;lhl;rp mikg;Gf;F Njitahd $Wfs; ahit?

m) murpay; Nkd;ik> mjpfhugq;fPL> Rje;jpukhf ,aq;Fk; epjpj;Jiw

M) xw;iwahl;rp


,) nefpOk; mikg;G

<) nefpoh mikg;G

44. What kind of rule is it if the Government is ruled by single person?
a) Democracy
b) Party System
c) Aristocracy
d) Autocracy
Ml;rpahsu; xUtuhf ,Ue;jhy; mJ vd;d tif Ml;rp ahFk;?

m) kf;fshl;rp 
M) fl;rpKiw   ,) gpuGf;fshl;rp

<) vNjr;rjpfhuk;
45. What kind of regime is it if the rulers are many?

a) Party rule

b) Nobility rule

c) Home rule     
d) Oligrachy
Ml;rpahsu;fs; gyuhf ,Ue;jhy; mJ vd;d tif Ml;rpahFk;? 

m) fl;rpMl;rp 
M) gpuGf;fshl;rp  

,) Kbahl;rp

 <)FO Ml;rp 
46. Who divided the Government into two major old distinctions as tyrannical rule and   
       Democracy?
a) Knat

b) Stephen 

c) Locke
d) Bodin

murhq;fj;ij gioa ghFghLfshf ,uz;L ngUk; gpupTfshf nfhLq;Nfhyhl;rp kw;Wk; kf;fshl;rpahfTk; ,uz;L tifahf gpupj;jtu; ahu;?

m) fhz;l;   
M) ];Bgd; 

,) yhf;
<) Nghbd;

47. On the basis of the distribution of powers the Governement can be divided into two.What 
       are they?
a) Unitary  Federalism

b) Flexible Rigid 
c) Democracy



d) Party System

mjpfhu gq;fPl;bd; mbg;gilapy; murhq;fq;fis ,Utifahf gpupf;fyhk; mit ahit?

m) xw;iwahl;rp $l;lhl;rp


M) nefpOk; nefpoh

,) kf;fshl;rp



 <) fl;rpKiw

48. What is the so-called power-sharing system of the central government 

and several state governments working together?

a) Parliamentary system


b) federal
c) Presidential system of Government
d) Democracy

ika muRk; gy khepy muRfSk; xd;W Nru;e;J mjpfhuq;fis gq;fPl;L nfhz;L ,aq;Fk; mikg;G vt;thW miof;fg;gLfpwJ.

m) ghuhSkd;w mikg;G


M) $l;lhl;rp 

,) jiytu; Kiw murhq;fk;

<) kf;fshl;rp

49. Which is the third main characteristic of the federation?

a) Supreme Court


b) Central Parliament


c) Legislative


d) State Legislative

$l;lhl;rpapd; %d;whtJ Kf;fpa gz;ghf tpsq;FtJ vJ

m) jiyik ePjpkd;wk;

M) ikaghuhSkd;wk; 

,) rl;lkd;wk;


<) khepyrl;l kd;wk;

50. How the ruling community of a country is called?

a) Administration

b) Government



c) Democrats 


d) Public sector

xU ehl;il MSk; r%fj;jpdu; vt;thW miof;fg;gLfpwhu;

m) epu;thfj;jpdu;


M) muR

,) Fbahl;rpapdu;


<) nghJj;Jiw
51. Which describes the legal relationship between the ruling party and the ruling class?
a) Modern Governments


b) Monarchy




c) Government



d) Administration

Msg;gLfpwtu;fs; MSk; r%fj;jpdu; Mfpa ,U gpuptpdUf;Fk; ,ilNa cs;s rl;lg; g+u;tkhd njhlu;GfisAk; gw;wp tptupg;gJ vJ?.

m) jw;fhy murhq;fq;fs;

M) Kbahl;rp


,) muR



 <) epu;thfk;
52. What is the main feature of parliamentary form of Government 
a) The cabinet will be the same 

b) The cabinet will be multi characters   

c) The cabinet will be ambiguous

d) The cabinet will be non-existent

ghuhSkd;w Kiw epu;thfj;jpd; Kf;fpa rpwg;gk;rk; vJ?

m) mikr;ruit xNu jd;ikahf ,Uf;Fk;

M) mikr;ruit gy jd;ikahf ,Uf;Fk;

,) mikr;ruit ,UNtW jd;ikahf ,Uf;Fk;

<) mikr;ruit jd;ikapy;yhjjhf ,Uf;Fk;

53. What is special feature of the Federal Constitution?
a) Flexible 
b) Rigid
c) Supermacy of Constitution     d) Rule of Law
 ghuhSkd;wj;jpd; ngUk;ghd;ikf; fl;rpapd; jiytuhf tpsq;Fgtu; ahu;?

m) nefpOk;
M) nefpoh  ,) murpayikg;gpd; Nkd;ik <) rl;lj;jpd; Ml;rp
54. In the presidential form of executive the people directly elected--------------
a) Prime Minister

b) Chief Minister
c) Speaker


d) Head of state

jiytu; Kiw epu;thfj; JiwAs;s ehl;by; ……………………..I kf;fNs Neubahfj; Nju;e;njLf;fpd;wdu;.

m) gpujk ke;jpup
  
M) jiyik mikr;ru;

,) rghehafu;
 

<)ehl;bd; jiytu;

55. The chairman is also the head of the country’s government of the 

executive branch.

a) Chief Justice

b) Chief Minister

c) Speaker


d) Head of State
jiytu; Kiw epu;thfj; Jiwapy; ehl;bd; ……………… murhq;fj;jpd; jiytuhfTk; ,Uf;fpwhu;.

m) jiyik ePjpgjp  
M) jiyik mikr;ru;

      ,) rghehafu;
  
<) ehl;bd; jiytu;

56. The person who has the majority members in the Parliament is appointed 
      as the --------------------
  a) Chief Minister   


 b) Chief Justice

  c) President   



d) Vice president

ghuhSkd;wj;jpy; ngUk;ghd;ik cWg;gpdu;fisf; nfhz;Ls;stu;  ………………………. Mf epakpf;fg;gLfpwhu;.

m) jiyik mikr;ru;

M) jiyik ePjpgjp 
,) FbauR jiytu; 

<) Jiz [dhjpgjp

57.  How the ruling parties in parliament are called?

a) Ministers 


b) Chief Justice

c) Majorities 


d) Pressure Groups
ghuhSkd;wj;jpy; MSk; fl;rpapdu; vt;thW miof;fg;gLthu;fs;?

m) rpWghd;ikapdu;


M) fl;rp jiytu;

,) ngUk;ghd;ikf; fl;rpapdu;
<) nry;thf;F FOf;fs;
58. What year did the laws of representation passed by the US congress?

a) 1791

b) 1886
c) 1789
d) 1788

mnkupf;f fhq;fpu]; ,aw;wpa gpujpepjpj;Jtr;rl;lq;fs; murpayikg;ig tsu;r;rpailar; nra;j Mz;L vJ?

m) 1781

M) 1886
,) 1789
<) 1788

59.  Which laws enacted by the American Congress  in 1789 that helps to develop the 
        Constitution?
a) Charter Act


 b) Republican Act   
     c) Parliamentary Act  
 
d) Representative
1789 – y; mnkupf;f fhq;fpu]; ,aw;wpa ve;j rl;lq;fs; murpayikg;ig tsu;r;rpaila nra;jJ?

m) gl;la rl;lk; 

M)FbauR rl;lk; 
,)ehlhSkd;w rl;lk; 
<)gpujpepj;Jtr; rl;lq;fs;
60. Which Country is called as the Mother of the Parliament ?
a) America

b) England

c) Switzerland
d) France

 ghuhSkd;wq;fspd;  jha; vd;W miof;fg;gLk; ehL vJ?

m) mnkupf;fh
M) ,q;fpyhe;J
,) Rtpru;yhe;J
<) gpuhd;];

UNIT - III
1.  Why the separation of powers in necessary?

          a) Operating under the same department can cause confusion

         b) Because government officials are more and more day by day

         c) Various needs to be considered

         d) All of these

mjpfhug; gpuptpidia Vw;gLj;j Ntz;ba mtrpak; Vd;?

m) xNu Jiwapy; fPo; nray;gl;Lte;jhy; Fog;gk; Vw;gLk; 

M) murhq;f mYty;fs; ehSf;F ehs; mjpfkhf ,Ug;gjhy; 

,) gy;NtW Njitfisf; ftdpf;f Ntz;bajhy; 

<) ,it midj;Jk; 

2. What are the three major branches of government?


a) Political parties, central government, Parliament


b) Election commission, government audit division, constitution of India


c) People's assembly, separation of powers, basic duties


d) Legislature, Judiciary, Executive
murhq;fj;jpd; Kg;ngUk; gpupTfshf tpsq;Fgit vit?

m) murpay; fl;rpfs;> kj;jpa muR> ghuhSkd;wk; 

M) Nju;jy; Mizak;> muR jzpf;if gpupT> ,e;jpa murpay; rhrdk;

,) kf;fs;rig> mjpfhugpuptpid> mbg;gilf; flikfs; 

<) rl;lj;Jiw> ePjpj;Jiw> epu;thfj;Jiw 

3. The government needs which department to function better?

            a) Parliament  

 b) Central government  
 
c) Legal department   
d) Department of justice

murhq;fk; rpwg;ghf nrayhw;w vj;Jiw Ntz;Lk;?

m) ghuhSkd;wk; 

M) kj;jpa muR

,) rl;lj;Jiw 

<) ePjpj;Jiw 
4.   Which department is need to enforce the enacted laws?



a)  Executive 
b) Department of justice 
c) Legal department 
d) Department power 
       ,aw;wg;gl;l rl;lq;fis nray;gLj;j vj;Jiw Ntz;Lk;?

m) epu;thfj;Jiw 

M) ePjpj;Jiw

,) rl;lj;Jiw 

<) mjpfhuj;Jiw
5. Which department punishes when laws are violated?



a) Department of justice 
b) Legal department



c) Department of power 
d) Administration

rl;lq;fs; kPwg;gLk;NghJ jz;lid nfhLf;Fk; Jiw vJ?

m) ePjpj;Jiw 

M) rl;lj;Jiw

,) mjpfhuj;Jiw 

<) epu;thfj;Jiw
6.    Which would be better if the Legislature, executive  and the judiciary functioned better?



a) People
 b) Government
 c) Country 
d) All of these

   rl;lj;Jiw> epu;thfj;Jiw> ePjpj;Jiw rpwg;ghf nray;gl;lhy; vJ rpwg;ghf 

   nray;gLk;?

m) kf;fs; 



M) murhq;fk; 

,) ehL 



<) ,it midj;Jk; 

7. Who had the over all power of the countries where the monarchy was?


a) People 
b) King 
c) Government 
d) Department of justice

Kbahl;rp ,Ue;j ehLfspy; vy;yh mjpfhuq;fSk; ahuplk; ,Ue;jJ?

m) kf;fs; 

M) muru;  ,) muR 

<) ePjpj;Jiw 

8.  What kind of rule would exist if the Legislature, executive and Judiciary which was in one’s hand?

a) Tyranny
     b) Democracy           c.)Kingdom  
           d.)None of these

          rl;lj;Jiw> epu;thfj;Jiw> ePjpj;Jiw xUtuplNk ,Ue;jhy; vj;jifa Ml;rp 

     epyTk;

m) nfhLq;Nfhyhl;rp 

M) kf;fshl;rp 

,) murhl;rp 



<) ,it vJTk; ,y;iy 
9.  Who was the first to explain the theory of separation of powers?


a) Montesquieu 
b) Karl Marx 

c) Rousseau 

d) Walter

   mjpfhug; gpuptpidf; Nfhl;ghl;bw;F Kjd; Kjyhf tpsf;fk; nfhLj;jtu; ahu;?

m) khz;l];f;A+


M) fhuy;khu;f;]; 

,) &Nrh 



<) thy;lu; 

10.   What country is the person who explained the separation theory?

        a) England 

b) India 

c) France 

d) United States

   mjpfhug; gpuptpidf; Nfhl;ghl;bw;F tpsf;fk; nfhLj;jtu; ve;j ehl;il 

    Nru;e;jtu;?

m) ,q;fpyhe;J 

M) ,e;jpah 

,) gpuhd;]; 


<) mnkupf;fh 

11.   In which king’s period did Montesquieu live?
      a) Louis XIV

 b) Peter 

c) Frederick 

d) Louis XVI

 khz;l];f;A+ ve;j muru; fhyj;jpy; tho;e;jhu;?

m) 14Mk; Y}ap 

M) gPl;lu; 

,) gpuplupf; 


<) 16 Mk; Y}ap 

12. Montesquieu stated  that the people of which country lived  for their rights and freedoms?

        a) India 

b) Canada

 c) France 

d) England
 khz;l];f;A+ ve;j ehl;L kf;fs; cupikfs;> kw;Wk; Rje;jpuj;Jld; tho;tjhf 

  Fwpg;gpLfpwhu;?

m) ,e;jpah 


M) fdlh 

,) gpuhd;]; 


<) ,q;fpyhe;J 
13. Montesquieu compared the politics of which country?



a) England - France  

b) India – China  

  

c) Canada - United states  
d) Germany - Russia

       ve;j ehl;bd; murpaiy khz;l];f;A+ xg;gpl;lhu;?

m) ,q;fpyhe;J- gpuhd;]; 
M) ,e;jpah –rPdh

,) fdlh – mnkupf;fh 
<) n[u;kdp – u~;ah 

14.  In which Book  Montesquieu said that  the power should be divided?

 
a)  Das Capital 



b) The Spirit  of the laws 


c) Social  contract 


d) Theory of separation of powers 
         mjpfhuq;fs; gpupf;fg;gl Ntz;Lk; vd;gij khz;l];f;a+ ve;j E}ypy; tpsf;fpdhu;. 

m) %yjdk; 


M) rl;;lq;fspd; fUg;nghUs; 

,) rKjha xg;ge;jk; 

<)  mjpfhug;gpuptpidf; Nfhl;ghL
15. What Montesquieu explained in the book the Spirit  of laws?

          a) Justice 

b) Rule 
c) Separation of powers 
d) Law

  khz;l];f;A+ rl;lj;jpd; fUg;nghUs; vd;w E}ypy; vjid tpsf;fpdhu;?

m) ePjp 



M) Ml;rp 

,) mjpfhug;gpuptpid 

<) rl;lk; 

16. What would be affected if the Legislature  judiciary and  executive  in one’s hand or in a group?
      a) People right   b) The right of the state   c) The right of the country  d) None of these 

rl;lj;Jiw> epu;thfj;Jiw> ePjpj;Jiw xUtuplNkh> xU FOtplNkh ,Ue;jhy;      ghjpg;G miltJ vJ?

m) kf;fs; cupik 

M) murpd; cupik 

,) ehl;bd; cupik 

<) ,it vJTk; ,y;iy
17.  Who said that all departments should function  separately?

      a) Montesquieu
b) Rousseau

 c) Karl Marx 

d) Frederick
     midj;J JiwAk; jdpj;jdpahf nray;glNtz;Lk; vd;W $wpatu; ahu;?

m) khz;lf;];A+ 

M) &Nrh 

,) fhuy; khu;f;]; 

<) gpulupf; 

18.   Luke said in the book civil government what should be divided?



a) Administration     

 b) Legal department      



c) Department of justice 
d) Department of power
Yhf; vd;gtu; rptpy; murhq;fk; vd;w E}ypy; vJ gpupf;fg;gl Ntz;Lk; vd;W 
   $wpdhu;.
m) epu;thfj;Jiw 

M) rl;lj;Jiw 

,) ePjpj;Jiw 

<) mjpfhuj;Jiw 
19.   Who appointed   the judges in  England?


a) Executive  



b) Lawyers 



c) Department of power 

d) All three of them

,q;fpyhe;jpy; ePjpgjpfis ahu; epakpf;fpd;wdu;?

m) epu;thfj;Jiwapdu; 

M) rl;lj;Jiwapdu; 

,) mjpfhuj;Jiwapdu; 

<) ,tu;fs; %tUk; 
20.   Which is the supreme court of England?


a) People's assembly 
b) Board of directors
 c) Council of lords 
d) All of these

,q;fpyhe;jpd; jiyik ePjpkd;wk; vJ ?

m) kf;fs; rig 

M) epu;thf rig 

,) gpuGf;fs; rig 

<) ,it midj;Jk; 

21.    Who gave  the justice in England?

            a) King
 b) People 
c) Administration
 d) Judiciary 
   ,q;fpyhe;jpy; ePjp toq;Fgtu; ahu;?

m) muru; 


M) kf;fs; 

,) epu;thfj;Jiw 

<) ePjpj;Jiw 

22.  Who is the leader who created the constitution of America?


a) George Washington 
b) Thomas Jefferson 

c) Madison
 

d) Rousseau

 mnkupf;fhtpd; murpayikg;gpid cUthf;fpa jiytu; ahu;?

m) [hu;[; th~pq;ld; 

M) jhk]; n[gu;rd; 

,) khbrd; 


 <) &Nrh 

23. Which Constitutes as the Legislature of the United States of America?

a) Congress 
b) Senate
 c) House of representative 
d) People group

          mnkupf;f rl;lj;Jiwahf tpsq;FtJ vJ?

m) fhq;fpu]; 


M) nrdl; 

,) gpupjpepjpfs; rig 

<) kf;fs; FO 

24.   Who is the head of the US executive ?


a) President of the republic 
b) King 
c) Judge 
d) All of these

 mnkupf;f epu;thfj;Jiwapd; jiytu; ahu;?

m) FbauRj;jiytu; 

M) muru; 

,) ePjpgjp 



<) ,tu;fs; midtUk
; 

25. Which country has developed the checks and  balances theory?

   a) England

b) India

    c) America 

d) Russia

    rkepiyj; jiyaPl;Lf; nfhs;ifia cUthf;fpa ehL vJ?

m) ,q;fpyhe;J 


M) ,e;jpah

,) mnkupf;fh 


<) u\;ah 

26. The cabinet of France is responsible for what?


a) To the people 
b) To Parliament 
c) To the law 

d) To the judiciary
gpuhd;]; ehl;bd; mikr;ruit vjw;F nghWg;Gs;sjhf ,Uf;fpwJ?

m) kf;fSf;F 


M) ghuhSkd;wj;jpw;F 

,) rl;lj;jpw;F 


<) ePjpj;Jiwf;F
27.     The Indian political system is a model of political system of which country?


a) England 

b) Canada 

c) America 

d) France 
           ,e;jpa murpayikg;G ve;j ehl;bd; murpayikg;gpd; khjpupahf cs;sJ

m) ,q;fpyhe;J 


M) fdlh 

,) mnkupf;fh 


<) gpuhd;]; 

28.    The executive can be divided  into  How many categories ?

a) Four 
b) Three 

c) Six 

d) Two

 epu;thfj;Jiwia vj;jid tiffshf gpupf;fyhk;?
m) %d;W 



M) ehd;F 

,) MW 



<) ,uz;L
29.   What are the functions of the executive ?



a) law enforcement 



b) Giving justice 

  

c) Observing government services 

d) None of these

  epu;thfj;Jiwapd; gzpfs; vd;d?

m) rl;lj;jpid eilKiwg;gLj;JtJ 

M) ePjp toq;Fjy; 

,) muRg; gzpfis ftdpj;jy; 

<)  ,jpy; vJTk; ,y;iy 

30.   A bill passed by Parliament is become  law after whose acceptance ?



a.)Chairman of the court 
b)  Head of the executive


c) Legal department 

d) Department of justice

ghuhSkd;wj;jhy; epiwNtw;wg;gl;l xU kNrhjh ahUila ,irtpw;F gpwF rl;lkhFk;?

m) ePjpkd;wk; 

M) epu;thfj;jiytu; 

,) rl;lj;Jiw 

<) epjpj;Jiw 

31.   The bill passed by Parliament can be dismissed by Whose veto power?

a) Head of Excutive  


b) Head of the legal department 


c) Head of the judiciary 


d) Department of justice

ghuhSkd;wj;jpy; ,aw;wpa kNrhjhit ahUila kWg;ghiz mjpfhuk; %yk; js;Sgb nra;ayhk;?

m) epu;thfj;Jiw jiytu; 

M) rl;lj;Jiw jiytu; 

,) ePjpj;Jiwj;jiytu; 


<) epjpj;Jiw 

32.   The judge of the supreme court is appointed by whom?


a) Lawyers 



b) Excutive  


c) Chief system government 

d) King
jiyik ePjpkd;wj;jpd; ePjpgjp ahuhy; epakdk; nra;ag;gLfpwhu;?

m) rl;lj;Jiwapdu; 

M) epu;thfj;Jiwapdu; 

,) jiyik Kiw muR 

<) muru; 

33. Which sector collects and distributes government revenue to various department?



a) Administration 


b) Legal department



 c) Department of justice 

d) Department of finance

tupt#y; nra;J kw;Wk; murhq;f tUkhdj;ijg; gy JiwfSf;F gq;fPL nra;J nrytpLk; Jiw vJ?

m) epu;thfj;Jiw 


M) rl;lj;Jiw 

,) ePjpj;Jiw 


<) epjpj;Jiw
34. Which department establish the law and order within the country ?

a) Department of the Army     b) People      c) Executive   d) Legislature  
      cs;ehl;by; rl;lj;ijAk;> xOq;ifAk; epiy ehl;Lk; Jiw vJ?

m) ,uhZtj;Jiw 


M) kf;fs; 

,) epu;thfj;Jiw 


<) rl;lj;Jiw
35.   The President of which country is directly elected by the people for 7 years according to  adult suffrage?


       a) India 

b) America

 c) Italy 

d) France
         ve;j ehl;bd; FbauRj; jiytu; taJ te;Njhu; thf;Fupikg;gb VO      
    Mz;LfSf;F kf;fshy; Neubahf Nju;e;njLf;fg;gLfpwhu;?

m) ,e;jpah 


M) mnkupf;fh 

,) ,j;jhyp 


<) gpuhd;]; 

36.  How the president of the United States of America is elected?


a) Directly 
b) By the judge 
c) Indirectly 
d) By the people

   mnkupf;fhtpd; FbauRj; jiytu; vt;thW Nju;e;njLf;fg;gLfpwhu; 

m) Neubahf 


M) ePjpgjpahy; 

,) kiwKfkhf 


<) kf;fshy; 

37. What is the term of office of the head of the executive?



a) Two to seven years
 

b) Three to eight years 




c) Four to five years 


d) Two to six years

epu;thfj;Jiwj; jiytupd; gjtpf;fhyk; vj;jid Mz;L 

m) ,uz;L Kjy; VO Mz;Lfs; 


M) %d;W Kjy; vl;L Mz;Lfs; 

,)  ehd;F Kjy; Ie;J Mz;Lfs; 

<)  ,uz;L Kjy; MW Mz;Lfs; 

38.  What kind of character is the Parliamentary executive?


a)  Rigid
 b) Flexible 
c) Both of these 
d) None of these
        ghuhSkd;w epu;thfj;Jiw vj;jifa jd;ik nfhz;ljhf ,Uf;Fk;?

m) nefpo;Tj;jd;ikaw;wJ 

M) nefpo;Tj;jd;ik nfhz;lJ

,) ,it ,uz;Lk; 


<) ,it vJTk; ,y;iy 

39. In the Presidential form of Government  the president is elected by whom?


a) Head of the legal department 
b) Head of department      c) People      d) King

jiytu;Kiw epu;thj;JiwAs;s ehl;by; FbauRj; jiytu; ahuhy; Nju;e;njLf;fg;gLfpwhu;?

m) rl;lj;Jiwj; jiytu; 

M) epu;thfj;Jiwj; jiytu; 

,) kf;fs; 



<)  muru; 

40. What kind of government is if it the executive and the legislature work together?

      a) Presidential form  of government 
b) Parliamentary form of Government 


c) Flexible government 

d) Rigid  government

       epu;thfj;JiwAk; rl;lkd;wKk; ,ize;J nray;gl;lhy; mJ vj;jifa muR 

   MFk;?

m) jiytu;Kiw muR 

M) ghuhSkd;w Kiw muR
,) nefpOk; muR 


<) nefpoh muR
41.  In which  Country the Parliamentary form of  Government  is functioned ?

a) India

 b) America 

c) France 
d) Russia

       ghuhSkd;w Kiw muR ve;j ehl;by;  nray;gLfpwJ?

m) ,e;jpah 


M) mnkupf;fh 

,) gpuhd;]; 


<)  u\;ah
42.  How  many   types of executive system  are there in the parliamentary form of  Government?


    a) Three 

b) Four


 c) Seven 

d) Five
        ghuhSkd;w Kiw murhq;fj;jpy; vj;jid tif epu;thfj;Jiw cs;sJ?

m)  %d;W 


M) ehd;F 

,)  VO 


 <) Ie;J
43.    Who is the head of the cabinet?

       a) Prime minister
   b) King 
  c) Party leader
 d) All of these

  mikr;ruitapd; jiytu; ahu; ?

m) gpujk ke;jpup 

M) muru; 

,) fl;rpj;jiytu; 

<) ,it midj;Jk; 
44.  Which kind of Government is the Parliamentary form of Government ?

a) People's party system government
b) Presidential form of government


c) Party system government 

 d) The administrative system of government 
  ghuhSkd;w Kiw murhq;fk; vj;jifa Kiw murhq;fk; MFk;?

m) kf;fs; fl;rpKiw murhq;fk; 
M) jiytu; Kiw murhq;fk;

,) fl;rpKiw murhq;fk; 

<)  Ml;rp Kiw murhq;fk;
45.  Parliamentary system what kind of government will act incase of emergencyIn case of emergency how the parliamentary form of Government acted ?


a) Flexibility 

b) Flexibility 

c) Both of these 
d) None of these

   ghuhSkd;w Kiw murhq;fk; mtru fhyj;jpw;F vj;jifa jd;ikAld; 
    nray;gLk; ? 

m) nefpoh jd;ik 

M) nefpOk; jd;ik 

,) ,it ,uz;Lk; 

<)  ,it vJTk; ,y;iy
46. Which country follows  the Presidential form of  Government ?

a) Canada 

b) Indonesia 

c) America 
d)  India

 jiytu; Kiw murhq;fk; gpd;gw;Wk; ehL vJ?

 

m) fdlh 



M) M];jpNuypah



,) mnkupf;fh 


<) ,e;jpah
47. What is the reason for the presidential form of Government  give more importance to the policy of separation of powers ?


a)  The Legislature and Excutive are  independent  




 b) The legislature is also not independent of the administration 



c)  Head of the department of justice 



d)  Head of finance

        jiytu;Kiw murhq;fj;jpy; mjpfhug;gpuptpidf; nfhs;iff;F mjpf   
    Kf;fpaj;Jtk; nfhLf;f fhuzk; vd;d?

m) rl;lkd;wKk; epu;thfj;JiwAk; Rje;jpukhf ,Ug;gJ 

M) rl;lkd;wKk; epu;thfj;JiwAk; Rje;jpukhf ,y;yhjJ

,) ePjpj;Jiwapd; Rje;jpuk;  

<) epjpj;Jiwapd; Rje;jpuk; 

48.  How many times a week does the federal council meet?


a) Once every two weeks 

b) Once every four week 


c) Once a week 


d) Once every seven weeks

      $l;lhl;rpf; FOtpd; $l;lk; vj;jid thuj;jpw;F xU Kiw eilngWk;?

m) ,uz;L thuj;jpw;F xUKiw 
M) ehd;F thuj;jpw;F xU Kiw

,) thuk; xUKiw 


<) VO thuj;jpw;F xU Kiw 
49.  How many members are there in the Federal Council ? 

   a) Five members      b) Seven members      c) Two members         d) Four members

$l;lhl;rpf; FOtpy; vj;jid cWg;gpdu;fs; ,Uf;f Ntz;Lk;?
m) Ie;J cWg;gpdu;fs; 

M) VO cWg;gpdu;fs; 

,) ,uz;L cWg;gpdu;fs; 

<) ehd;F cWg;gpdu;fs; 

50.  How many councilors does the federal council have?

           a) Seven councilors   
b) Six councilors 
                 c) Three councilors 
d) Ten councilors
$l;lhl;rp Fo vj;jid fTd;rpyu;fis nfhz;Ls;sJ?

 m) VO fTd;rpyu;fs; 

M) MW fTd;rpyu;fs; 

  ,) %d;W fTd;rpyu;fs; 

<) gj;J fTd;rpyu;fs;
51. What is the tenure of the Federal Council?


a) Three years 


b) Four years 



c) Eight years


 d) Two years

      $l;lhl;rpf; FOtpd; gjtpf;fhyk; vd;d?
m) %d;W Mz;Lfs; 


M) ehd;F Mz;Lfs;
,) vl;L Mz;Lfs;
<) ,uz;L Mz;Lfs;
52. How  the meeting of the federal council will be held?

a) Apparently 

b) Secretly 

c.)Uniquely

 d) All of these 
         $l;lhl;rpf; FOtpd; $l;lk; vj;jifa Kiwapy; eilngWk;?

m) ntspg;gilahf 


M) ,ufrpakhf
,) jdpjjd;ikahf 

<) ,it midj;Jk;
 53.  What is the method by which everything is decided in the Federal Government?


a) Majority votes 
b) Fewer votes       c) Middle votes
 d) The votes of a few

          $l;lhl;rpapy; vy;yh KbTfSk; vLf;fg;gLk; Kiw ahJ?

m) ngUk;ghd;ik thf;Ffs; 

M) Fiwthd thf;Ffs; 

,) eLj;ju thf;Ffs; 


<) xU rpyupd; thf;Ffs; 

54.    What is the kind of the party of the federal council?


a) Multi - party    b) One party is independent     c) Both of these 
d) None of these

        $l;lhl;rpf;FOtpd; fl;rp vj;jifaJ?

m) gyfl;rp rhu;GilaJ 

M) xU fl;rp rhu;gw;wJ
,) ,it ,uz;Lk; 


<) ,it vJTk; ,y;iy 

55.    In federal executive the bill is introduced by Parliament by whom the majority is 

         generated?



a) By the people



 b) By the government 



c) By members of the federal council 
 d) By the executive
$l;lhl;rp epu;thfj;jpy; ghuhSkd;wj;jhy; Njhw;Wtpf;fg;gLk; kNrhjh ngUk;ghd;ik ahuhy; Njhw;Wtpf;fg;gLfpwJ?

m) kf;fshy; 



M) murhy; 

,) $l;lhl;rpf;FO cWg;gpduhy; 

<) epu;thfj;jpduhy; 
56.   In the Federal executive pariliament submits a special report in the name of how many 
       houses?

a) Two congregation 
 
b) Council of five    
 c) Seven congregation   
d)  One House 
$l;lhl;rp epu;thfj;jpy; ghuhSkd;wk; rpwg;G mwpf;ifia vj;jid  rigapd; tpUg;gj;jpd; Ngupy; rku;g;gpf;fpwJ?

m) ,uz;L rig 


M) Ie;J rig 

,) VO rig 


 <) xU rig 
57.   Which department has only a few powers in the federal council?



a) Judiciary  


b) Department of finance 



c) Legal department 


d) Administration
$l;lhl;rpf; FOtpy; rpy mjpfhuq;fis kl;Lk; ngw;Ws;s Jiw vJ?

m) ePjpj;Jiw 


M) epjpj;Jiw 

,) rl;lj;Jiw 


<) epu;thfj;Jiw

58.    Which sector has gained unlimited powers in times  of crisis in the federal 

         Executive ?



a) Department of finance 

b) Legal department 



c) Federal committee 


d)  Law department
$l;lhl;rp epu;thfj;jpy; neUf;fbf;fhyq;fspy; vy;iyaw;w  mjpfhuq;fis ngw;w Jiw vJ?  



m) epjpj;Jiw 


M) rl;lj;Jiw 



,) $l;lhl;rpf;FO 
 

<) ePjpj;Jiw
59. The federal administration has under  direct control over which  department?



a) Department of finance 


b) Executive, army 



c) Legislature  



d) Department of justice
$l;lhl;rp epu;thfk; vj;Jiwia Neubf;fl;Lg;ghl;bd; fPo; itj;Jf;nfhs;fpwJ?

m) epjpj;Jiw



M) epu;thfk;> ,uhZtk; 

,) rl;lj;Jiw 



 <) ePjpj;Jiw

60.    How many Linguistic basis representation in the federal executive council ?


a) Five 


b) One 


c) Two


 d) Three
         $l;lhl;rp epu;thff; FOtpy; vj;jid nkhop NgRNthu;f;F gpujpepjpj;Jtk;  

    fpilf;fpwJ.

 

 m) Ie;J 



M) xd;W 



 ,) ,uz;L 



<) %d;W 

UNIT – IV

1.       Who runs a country?


a) People
b) Party
c) Government

d) None of these

    xU ehl;il ,af;FtJ ahu;?

m) kf;fs;
       
M) fl;rp
     

,) murhq;fk;
   

 <) ,jpy; vJTk; ,y;iy

2. Who interprets the law of the land?


a) Legislature 


b) Executive 

c) Government

d) None of these
   ehl;bd; rl;lj;jpw;F tpsf;fk; mspg;gJ ahu;?

  
m) rl;lj;Jiw


M) epu;thfj;Jiw



,) murhq;fk;



<),jpy; vJTk;; ,y;iy

3. Who enforces the laws enacted by a country?


a) Executive   


b) Legislature    
c) Judiciary    


d) None of these

   xU ehl;bd; ,aw;wg;gl;l rl;lq;fis nray;gLj;JtJ ahu;?

  m) epu;thfj;Jiw
  
M) rl;lj;Jiw   

  ,) ePjpj;Jiw   

<) ,jpy; xd;Wk; ,y;iy

4. Which are influential in the parliamentary government and in the unitary  system of 

    Government?


a) Lok Sabha 
    

 b) Assemblies        


c) Department of justice   
d) Administration

  ghuhSkd;w murhq;fj;jpYk; kw;Wk; xw;iwahl;rp Kiw murhq;fj;jpy; 

  vit nry;thf;F ngw;W tpsq;FfpwJ?

  

m) kf;fsit
  M) rl;lkd;wq;fs;
   

 ,) rl;lj;Jiw     <) epu;thfj;Jiw

5.     What represents the people’s reprentation of the Legislature?

a) Justice
b) The law
c)  People’s opinion
d) Administration

   kf;fspd; gpujpepjpfs; mlq;fpa rl;lkd;wq;fs; vij gpujpgypf;fpd;wd?

  

m) ePjpia
     

M) rl;lj;ij
    

      ,) kf;fspd; fUj;ij    <) epu;thfj;ij

6.      Which consisted the elected representatives of the People?

a)  judiciary    b)  Legislature     c) Legislative assembly
d) Executive 
   kf;fshy; Nju;e;jLf;fg;gl;l gpujpepjpfis cs;slf;fpaJ vJ?
 

 m) ePjpj;Jiw  
     M) rl;lj;Jiw 

 ,) rl;lrig 

<) epu;thfj;Jiw

7.      How the functions of the assembly take place among the nations of the world?

   
a) Will be identical 
b) Not identical    c) Will gain prominence
d) None of these

   rl;lrigapd; gzpfs; cyf ehLfspilNa  vg;gb ,Uf;Fk;?

 

 m) xNu khjpupahf ,Uf;Fk;
  M) xNu khjpupahf ,y;iy
 

 ,) Kf;fpaj;Jtk; ngWk;

  <) ,jpy; vJTk; ,y;iy
8.  How are functions of Parliamentary form of Government ?


a) Be wide eyed   

 b) not functioned in a wide    
c) will be intermediate  
d) None of these
   ghuhSkd;w Kiw murhq;fj;jpd; nray;ghLfs; vt;thW ,Uf;Fk;?

  
m) tpupe;jitahf ,Uf;Fk;
    M) tpupe;J nray;glhJ

  
,) ,ilgl;ljhf ,Uf;Fk;
     <) ,jpy; vJTk; ,y;iy
9. What the old law do in accordance with the developing society in a country?



a) old laws are being reduced

b) old laws are being amended



c) old laws are being removed

d) None of these

   xU ehl;by; tsUk; rKjhaj;jpw;Nfw;g gioa rl;lq;fs; vd;d nra;ag;gLfpd;;wd?

  

m) gioa rl;lq;fs; Fiwf;fg;gLfpd;wd 

M) gioa rl;lq;fs; jpUj;jg;gLfpd;wd 


  

,) gioa rl;lq;fs; ePf;fg;gLfpd;wd 
 

<)  ,jpy; vJTk; ,y;iy

10.  Who prepares and submits the bills?


a) Legislature

 
b) Judiciary 

c) Executive  


 d) House of People 
  xU ehl;by; rl;l Kd; tiuTfisj; jahupj;J rku;gpg;gJ ahu;?
   
m) rl;lj;Jiw    


M) ePjpj;Jiw   

,) epu;thfj;Jiw       

 <) kf;fs;rig

11. Bill passed by the legislative assemblies of a country must be approved by whom



a) Approved by the head of the legal department  

 

b) Approval of the head of the judiciary




c) Approval of the speaker of parliament
        



d) Approval of the head of Administration

   xU ehl;bd; rl;lkd;wq;fs; epiwNtw;wpa kNrhjhf;fs; ahu; cila 

   xg;Gjy; ngw Ntz;Lk;?

   

m) rl;lj;Jiw jiytu; xg;Gjy;       

M) ePjpj;Jiw jiytupd; xg;Gjy;

 

,) ghuhSkd;w jiytupd; xg;Gjy;
   

      <) epu;thfj;Jiw jiytupd; xg;Gjy;

12. If the laws of a country are unconstitutional who will remove it


a) Court
b) Executive forum
c) People’s forum
d) None of these

   xU ehl;bd; rl;lq;fs; murpayikg;gpw;F Kuzhf ,Ue;jhy; mij 

   ePf;FtJ ahu;?

   

m) ePjpkd;wk;


M) epu;thf kd;wk;   

,) kf;fs; kd;wk;  

<) ,jpy; vJTk,y;iy

13. The budget of a country is reviewed for how many  years?
           a) Once in ten years  b)  Once in one year   c) Once in two years  d)  Once in three years

  xU ehl;by; tuT nryTj; jpl;lk; vj;jid Mz;Lf;F xUKiw guprPyid 
   nra;ag;gLk;?

     

m) 10 Mz;bw;F xUKiw
          M) xU Mz;bw;F xUKiw
  

 ,) ,uz;L Mz;bw;F xUKiw
     <) %d;W Mz;bw;F  xUKiw

14.  How the cabinet members are responsible to the Parliament?


a) Indirectly responsible

b) Directly responsible 




c) Responsible through a forum
d) None of these
   mikr;ruit cWg;gpdu;fs; ghuhSkd;wj;jpw;F vj;jifa nghWg;Gilatu;fs;?


 

m) kiwKf nghWg;Gilatu;fs;        

M) Neubahf nghWg;Gilatu;fs;

   
      ,) xU kd;wj;jpd; %yk; nghWg;Gilatu; 

 <) ,jpy; vJTk; ,y;iy

15. Who has the right to bring a resolution of no confidence  motion over the ministers  in a 
      country?

a) To the assembly
b) Executive 
c) To the judiciary
d) None of these

   xU ehl;bd; mikr;ru;fs; kPJ ek;gpf;ifapy;yhj; jPu;khdk; nfhz;L tu ahUf;F   

   cupik cz;L?

   

m) rl;lrigf;F
 

M) epu;thfj;Jiw  

,) ePjpj;Jiwf;F  


<) ,jpy; vJTk; ,y;iy
16. Who appoints the country’s investigative committee and review  committee?


a) Court
b) Executive forum
c) Assembly
d)  None of these

   ehl;bd; tprhuizf; FOf;fisAk; Ma;Tf; FOf;fisAk; ahu; epakdk;   

   nra;fpd;wd?;   

  

 m) ePjpkd;wk;
  M) epu;thf kd;wk;   

 ,) rl;lkd;wk;       <) vJTk; ,y;iy
17. How many houses of parliament are there in India?


a) Houses  of  four
b) Houses  of eight
c) Houses  of three
d)  Houses  of two
  ,e;jpahtpy; ghuhSkd;wj;jpy; vj;jid rig cs;sJ?

   

m) ehd;F rig
   M) vl;L rig
   

,) %d;W rig        <) ,uz;L rig

18. In countries like New Zealand, Denmark, Finland, Bulgaria, Greece how many 

       Assemblies functioned in the Legislature?


a) A House
b) Houses of four
c) Houses of three
d) Houses of two

   epa+rpyhe;J> nld;khu;f;> gpd;yhe;J> gy;Nfupah> fpuP]; Nghd;w ehLfspy; vj;jid 

   rig nfhz;l rl;lkd;wk; nray;gLfpwJ?

  

m) xU rig


M) ehd;F rig


,) %d;W rig

<) ,uz;L rig

19.  Among the two houses  in the countries, How the first house is to be called 

a) The lower house 


b) upper house
    
 c) legislative assembly   
  
d) None 
   ,uz;L rigfis nfhz;l ehLfspy; Kjy; rig vt;thW miof;fg;gLfpwJ?

 

m) fPo;rig


M) Nky;rig



,) rl;lrig
   

<) vJTk; ,y;iy

20.  What is it called if there is only one side in a country’s legislature?


a) Bicameral Legislature

b) Unicameral  Legislature 


c) Bicameral and Unicameral 

d) None of these
   xU ehl;bd; rl;lkd;wj;jpy; Xuit kl;Lk; ,Ue;jhy; mJ vt;thW   
   miof;fg;gLfpd;wJ?

  

 m) <uit rl;lkd;wk;            M) Xuit rl;lkd;wk;  

  

 ,) <uit kw;Wk; Xuit           <) ,jpy; vJTkpy;iy

21.  On what basis the unicameral  legislature are  influenced 
       

 a) In terms of people policy


 b) In terms of legislative policy 



 c) In terms of Judicial  policy 

d) None of these
   Xuit rl;lkd;wq;fs; vjd;; mbg;gilapy; nry;thf;F ngWfpd;wd?

   

m) kf;fs; nfhs;if mbg;gilapy;
    

M) rl;lkd;w nfhs;is mbg;gilapy;

  

,) ePjpkd;w nfhs;if mbg;gilapy;
     

<) ,jpy; vJTkpy;iy
22. Which method does the one sided assembly system follow?

        

 a) Follows the strict method 
b) Follow the simplest method 



c)  a and b 


d) None of these

   Xuit rl;lkd;w Kiw ve;j Kiwia gpd;gw;WfpwJ?

   

m) fLikahd Kiwia gpd;gw;WfpwJ   

M) kpf vspikahd Kiwia gpd;gw;WfpwJ  

  
      ,) m kw;Wk; M      

 <) ,jpy; vJTk; ,y;iy

23. How the Legislature with two houses are called?
            a) Unicameral Legislature      


b) Upper house assembly    
c) Bicameral Legislature     


d) None of these

   rl;lkd;wj;jpy; ,uz;L rig ,Ue;jhy; mit vt;thW miof;fg;gLfpwJ?
 

 m) Xuit rl;lkd;wk;               M) Nky;mit rl;lkd;wk;  

  

 ,) <uit rl;lkd;wk;                <) ,jpy; vJTk; ,y;iy

24. Whether the upper house of the legislature is a permanent body?

        
a) Yes 

b) No 

c) Sometimes permanent 

d) Nothing

   rl;lkd;wj;jpy; Nky;rig epue;jukhd rigahf cs;sjh?

   

m) Mk;    


 M) ,y;iy     

,) rpy rkak; epue;juk;     <) vJTk; ,y;iy

25.  The number of members of the upper house in the legislature should be less than that of  
       the members of the lower house?

a) More 

b) Less 

c) Very low 

d) Too much

  rl;lkd;wj;jpy; Nky;rig cWg;gpdu;fspd; vz;zpf;if fPo;rig cWg;gpdu;fis tpl 

  vj;jifajhf ,Uf;f Ntz;Lk;? 
  

 m) mjpfkhf    

 M) Fiwthf     

 ,) kpff;FiwT    
 <) kpf mjpfk;

26.  In which house the money bills  should be introduced ?
         a) In the upper house   b) In the lower house    c) In the assembly  d) None of these

  epjpkNrhjhf;fs; ve;j rigapy; mwpKfg;gLj;jg;gl Ntz;Lk;?

  

 m) Nky;rigapy;  

 M) fPo;rigapy;  

 ,) rl;lrigapy;   
<) ,jpy; vJTk; ,y;iy
27. What will happen if the legislative power in the country is given to only one council?

       a) The ruling party is abusing its power   
 b) The ruling party must use its power properly 

      
 c) a & b both are correct 


  
d) None of these
   ehl;by; rl;lk; ,aw;Wk; mjpfhuk; vy;yhk; xNu rigf;F kl;Lk; nfhLf;fg;gl;lhy; 

   vd;d elf;Fk;?

   

m) MSk; fl;rp jdJ mjpfhuj;ij jtwhf gad;gLj;Jk;

   

M) MSk; fl;rp jdJ mjpfhuj;ij rupahd Kiwapy; gad;gLj;Jk;

  

,) m kw;Wk; M ,uz;Lk; cz;L        

 
      <) ,it vJTk; ,y;iy

28. Members of the council under the federal politics of the country are elected on what 
      basis?
       
 
a) Are elected by the members      
  b) Are selected on the basis of population 



c) a and  b 

       
  

d) None of these
   ehl;by; $l;lhl;rp murpy; fPo;rigf;F cWg;gpdu;fs; vjd; mbg;gilapy; 

   Nju;e;njLf;fg;gLfpd;wdu;?

   

m) cWg;gpdu;fshy; Nju;e;njLf;fg;gLfpd;wdu;

   

M) kf;fs; njhifapd; mbg;gilapy; Nju;e;njLf;fg;gLfpd;wdu;

  
      ,) m kw;Wk; M 

      <) ,jpy; vJTk; ,y;iy

.       

29.  How many members are elected from each state for the senate?

         
a) Three members         b) Four members      c) Five members        d) Two members
    nrdl;- w;F  xt;nthU khepyj;jpypUe;Jk; vj;jid cWg;gpdu;fs; 

   Nju;e;njLf;fg;gLfpd;wdu;?

  

 m) %d;W cWg;gpdu;
       M) ehd;F cWg;gpdu;  

   

 ,) Ie;J cWg;gpdu;             <) ,uz;L cWg;gpdu;
30.  Which is the first house of the legislature in the country?

       
a) Upper house      b) Unicameral     c) Bicameral     d) Lower house 
   ehl;by; rl;lkd;wj;jpy; Kjy; rig vJ?

   

m) Nky; rig    


 M) Xuit 

      ,) <uit    

 
 <) fPo; rig
31.  What would it be like to be in two chruches divided into sects?

        

a) Be prosperous     



b) Will not be complete  

    

c) Would be contradictory   


d) None of these

   ,iwik gpupf;fg;gLk; ,U rigfspy; ,Ug;gJ ,iwikf; Nfhl;ghl;Lf;F vt;thW 

   ,Uf;Fk;?
  

 m) epiwthf ,Uf;Fk;           M) epiwthf ,Uf;Fk;  

      ,) Kuzhf ,Uf;Fk;             <) ,jpy; vJTk; ,y;iy

32.  Suppose members of the upper house are generally conservation and reactionary.

       
 a) Yes 

b) No 

c) A and b added 
     d) None of these

   nghJthf Nky;rig cWg;gpdu;fs; gioikthjpfshfTk; kw;Wk; gpw;Nghf;F 

   jd;ik cs;stu;fshf cs;sdu; $Wf:

  

 m) Mk;    

 
M) ,y;iy    

  
 ,) m kw;Wk; M Nru;e;jJ  
<) vJTk; ,y;iy
33.  How many of the upper house members in India are appointed by the president of the 

       republic?

        
 a) 15 people
 
b) 18 people 

c) 30 people 

d) 12 people
   ,e;jpahtpy; Nkyit cWg;gpdu;fspy; vj;jid Ngu; FbauRj; jiytuhy; 

   epakpf;fg;gLfpd;wdu;?

  

 m) 15 Ngu;     

 M) 18 Ngu;       

 ,) 30 Ngu;         
  <) 12 Ngu;

34. What helps to solve the problems that arise when passing a bill in the lower house?

        
 a) Special terms help 



b) The federal system helps 


c) The upper house helps 


d) None of these
   fPo;rigapy; xU kNrhjhit epiwNtw;Wk; NghJ Vw;gLfpd;w gpur;ridfisj; 

   jPu;g;gjw;nfd;W vit cjTfpd;wJ?

 
  m) rpwg;Gf;FOf;fs; cjTfpd;wd     M) $l;lhl;rp mikg;G cjTfpd;wd

  
  ,) Nky;rig cjTfpd;wd           <) ,jpy; vJTk;; ,y;iy
35.  How many types of democracy?

        
a) Classified into five  

 b) Classified into three 


c) Classified into two 


 d) Classified into four

   kf;fshl;rp vj;jid tifg;gLk;?

   
m) 5 tifg;gLk;    

M) 3 tifg;gLk;   

      ,) 2 tifg;gLk;   

 <) 4 tifg;gLk;

36.  How many people rule in most countries of the world?

       
 a) Direct democracy 



b) Representative democracy 


c) A and B were added 


d) None of these

   cyfpy; ngUk;ghd;ikahd ehLfspy; vj;jifa kf;fshl;rp epyTfpwJ?

  
 m) Neub kf;fshl;rp             M) gpujpepjpj;Jt kf;fshl;rp  

 
 ,) m kw;Wk; M Nru;e;jJ         <) ,jpy; xd;Wk; ,y;iy

37.   What is direct democracy?

       

 a. Involving people directly in legislation 



 b. People are not directly involved in legislation



 c. A and B were added 



d. None of these

  Neub kf;fshl;rp vd;why; vd;d?

   

 m) kf;fs; Neubahf rl;lk; ,aw;Wtjpy; rk;ge;jgLtJ

   

 M) kf;fs; Neubahf rl;lk; ,aw;Wtjpy; rk;ge;jgLtjpy;iy

  

 ,) m kw;Wk; M-it Nru;e;jJ  

 <) ,jpy; vJTk; ,y;iy

38. What is direct democracy?

       
    a. It is not ruled by representatives elected by the people.  


    b. It is governed by representatives elected by the people

                c. There are both above 

               d. None of these
  Neub kf;fshl;rp vd;why; vd;d?

 
  m) kf;fshy; Nju;e;njLf;fg;gLk; gpujpepjpfshy; Ml;rp elj;jg;gLtjpy;iy

 
  M) kf;fshy; Nju;e;njLf;fg;gLk; gpujpepjpfshy; Ml;rp elj;jg;gLtJ

  
  ,) Nky; cs;s ,uz;Lk; cz;L  

  <) ,jpy; vJTk; ,y;iy

39. Which country has the best functioning direct democracy?

        
a) England 

b) America 

c) Switzerland 

d) France

  Neub kf;fshl;rp Kiw rpwg;ghf ,aq;Fk; ehL vJ?

   

m) ,q;fpyhe;J
        M) mnkupf;fh      

,) Rtpl;ru;yhe;J            <) gpuhd;];
40.  How many types of people judge?

       

 a) Classified into two  

 b) Classified into three 

        

c) Classified into five 


d) Classified into ten 
    kf;fs; jPu;g;G vj;jid tifg;gLk;?

  

 m) ,uz;L tifg;gLk;        M) %d;W tifg;gLk;  

  

 ,) Ie;J tifg;gLk;          <) 10 tifg;gLk
41. What is the judgement of the preferred people?

         a) The law in Parliament is the submission of the will of the people before the people.

         b) The law in parliament is not submission of the will of the people before the people.

         c) Sometimes A and B are correct

         d) None of these

 tpUg;g kf;fs; jPu;g;G vJ?

    m) ghuhSkd;wj;jpy; rl;lk; kf;fs; tpUg;gg;gb kf;fs; Kd; rku;gpj;jy; MFk;

    M) ghuhSkd;wj;jpy; rl;lk; kf;fs; tpUg;gg;gb kf;fs; Kd; rku;gpj;jy; ,y;iy

    ,) rpy rkak; m kw;Wk; M ,uz;Lk; ,Uf;Fk;   

     <) vJTk; ,y;iy

42. What is known as the veto power of the people?

        

a) People start up  


b.)Referendum 



c) The right to redemption 

d) Judgement of the people

   kf;fspd; kWg;ghiz mjpfhuk; vd mwpag;gLtJ vJ?

  

 m) kf;fs; Jtf;fk;       
M) thf;nfLg;G    

 ,) kPl;Gupik

      <) kf;fs; jPu;g;G

43.   Who said that accountability in the legislature is reduced by the people's judgement?

       
 a) Price C

  b) Finap 

c) Montesquieu 
d) Lusky

   kf;fs; jPu;g;ghy; rl;lkd;wq;fspd; nghWg;Gzu;T Fiwf;fg;gLfpwJ vdf; $wpatu;

   ahu;?

 m) gpiurp      

   M) gp/gdu;      

      ,) khz;nl];f;A+           <) y];fp

44.   Judgement of the people is a plea to hand over the place of the wise to the ignorant to 

        the responsible to the irresponsible

                 a) Price. C   
b) Henry Maine
 c) Ambedkar 

d) Gandhi
    kf;fs; jPu;g;G vd;gJ mwpTs;stu;fs; mwpahik cs;stu;fsplj;jpw;Fk;> 
    nghWg;Gs;stu;fs; nghWg;gw;wtu;fsplj;jpw;Fk; xg;gilf;Fk; Xu; Ntz;LNfhs; -      
    ,J ahUila $w;W
   

m) gpiurp    


M) n`d;wp nkapd;  

     ,) mk;Ngj;fu;


      <) fhe;jp

45.  That all amendment to the constitution must be submitted to the judgement of the   

       people.

     

  a) Judgement of custom people 

b) Referendum 

   

  c) Forced people's judgement 

d) The right to redemption
   murpay; mikg;gpd; vy;yhtpjkhd jpUj;jq;fSk; fl;lhakhf kf;fspd; jPu;g;Gf;F 

   rku;g;gpf;fg;gl Ntz;Lnkd;gJ

  

 m) tpUg;g kf;fs; jPu;g;G   
   M) kf;fs; thf;nfLg;G    

 ,) fl;lha kf;fs; jPu;g;G  
    <) kPl;Gupik

46.   Who said disgusted political parties can exploit the family and cause chaos?
  a) C. F. Strong     b) Finer      c) Plangsten    d) Sisaro
   ntWg;gile;j murpay; fl;rpfs; Fbnahg;gj;ijg; gad;gLj;jp Fog;gq;fis 

   tpistpf;Fk; vd;W $wpatu; ahu;?

 

  m) C.F.];l;uhq; 


 M) igdu;  

  ,) gpshf;];ld;  
            <) rprNuh

47. What is  Initiative?

       
a) Amendment of the constitution is the right given to the people to initiate the law.

 
b) The law has no right to start 


c) There is no right to amend the constitution


d) None of these

   njhlf;f cupik vJ?

   
m) rl;lq;fis njhlq;f> murpayikg;ig jpUj;j kf;fSf;F mspf;fg;gLk; 

     
    cupik MFk;.

   
M) rl;lk; njhlq;f cupik ,y;iy  

   
,) murpayikg;G jpUj;j cupik ,y;iy

  
<) vJTk;; ,y;iy

48. What is a Formulative initiative ?

          

a)Failure to complete the bill 



b) A bill with the final decision  



c)Setting the initiative as the bill is completed 



d) None of these

   njhFf;fg;gl;l kf;fs; Jtf;fk; vd;gJ vd;d?

   

m) kNrhjh Kw;W ngwhky; ,Ug;gJ         

M) kNrhjh ,WjpKbTld; ,Ug;gJ

 
 
,) kNrhjh Kw;Wg; ngw;wjhfj; Jtf;fk; mike;jpUj;jy;    

<) vJTkpy;iy

49. What is unformulative initiative?

       
a) Being public without being properly compiled in bill form 


b Completion of the bill 


c) Failure to start the bill 


d) Final decision of the bill

   njhFf;fg;glhj kf;fs; Jtf;fk; vd;gJ vd;d?

  
 m) kNrhjh tbtpy; Kiwahf njhFf;fg;glhky; nghJKiwapy; ,Ug;gJ

   
 M) kNrhjh epiwTld; ,Uj;jy; 

  
 ,) kNrhjh njhlq;fhky; ,Uj;jy;

   
 <) kNrhjhtpd; ,WjpKbT

50. The referendum is the only way to know the judgement  of the people.is it true?
      
 a) True 
    
 b) False 

     
 c) Sometimes True 

     
 d)  None of these 

  kf;fs; thf;nfLg;G vd;gJ kf;fspd; jPu;g;ig mwpAk; KiwahFk; rupah?

  
 m) rup
    


M) jtW
  
 ,) rpy rkaq;fspy; rup 

<) ,jpy; vJTk; ,y;iy
51.  What is the Recall?
       
 a. Is to recall that the elected representative of the people have not performed   their 

                 duties properly.
       
 b. They will not take it back 


 c. Lack of popular vote 


d. None of these
  kPl;Gupik vd;gJ vJ?

     m) kf;fshy; Nju;e;njLf;fg;gl;l gpujpepjpfs; jq;fs; flikfis rupahf 

        Mw;wtpy;iy vd;W jpUg;gp mioj;Jf; nfhs;Sjy; MFk;.

     M) jpUg;gp mioj;Jf;nfhs;s khl;lhu;fs;  

   
,) kf;fspd; thf;nfLg;gpd; Fiw
  
<) ,jpy; vJTkpy;iy

52. Who said that the knowledge of the judgement  of the people in the  important matter is       
  referendum ?
         

a) Finer 


b)Macaulay


c) Blackston 


d) C. F. Strong
   Kf;fpakhd tptfhuq;fspy; kf;fspd; jPu;g;ig mwpAk; KiwNa kf;fs; thf;nfLg;G 

   vd;W $wpatu; ahu;?

  

 m) igdu;     

M) nkf;fhNy    

 ,) gpshf;];ld;         <) C.F. ];l;uhq;
53. Ordinary people do not know  the Legal nuance ?
         

 a)  Not a right statement   

 b) Sometimes true    



 c) Right statement  


d) None of these

  rhjhuz kf;fSf;F rl;l EZf;fk; njupe;jpUg;gjpy;iy rupahd $w;wh?

   

m) rupahd $w;W ,y;iy      M) gy rkaq;fspy; cz;;ik

   

,) rupahd $w;W 


<) ,jpy; vJTk;; ,y;iy

54.   How many types are there in the delegated Legislation?
         
a) 2  


b) 3 

c) 4 

d)  5

  toq;fg;gl;l rl;l cupik vj;jid tifg;gLk; ?

   
m) 2

    
M) 3      ,) 4         <) 5

55. What is the another name for direct democracy?

      

  a) Representative democracy 

b) Pure democracy 



  c) Parliamentary system 


d) Referendum
  Neub kf;fshl;rp Kiwapd; kw;nwhU ngau; ahJ?

   

 m) gpupjpepjpj;Jt kf;fshl;rp      M) J}a kf;fshl;rp 

  

 ,) ghuhSkd;w Kiw    
   <) kf;fs; xg;gk; 

56. What is called the right to express the sovereignty of the people?

      

 a) Referendum 


b) People’s initiative 


 c) Recall

                        d) Judgement of the people

  kf;fspd; ,iwikia ntspg;gLj;Jk; cupik vd;wiof;fg;gLtJ vJ?

   

 m) kf;fs; thf;nfLg;G 

M) kf;fs; Jtf;fk;   

  

 ,) kPl;Gupik
           <) kf;fs; jPu;g;G 
57.    Who were the key leaders of Europe who made history by following the  system of  
         Referendum?
        

a) Napoleon, Mussolini 

b) Alexander, Hitler 



c) Napoleon, Stalin 


d) Napoleon, Hitler
   kf;fs; thf;nfLg;G Kiwapidg; gpd;gw;wp ty;yhl;rpia cUthf;fpa INuhg;ghtpd; 

   Kf;fpa jiytu;fs; ahtu;?

   

m) neg;Nghypad;> KNrhypdp 
M) mnyf;]hz;lu;> `pl;yu;   

 

,) neg;Nghypad;> ];lhypd;   
<) neg;Nghypad; > `pl;yu; 

58.  Which state was annexed along with India by  the Referendum?

      
 a) Punjab 

b) Delhi 

c) Sikkim 

d) Assam

   kf;fs; thf;nfLg;gpd; %yk; ,e;jpahTld; ,izj;Jf;nfhs;sg;gl;l khepyk; vJ?

  

 m) gQ;rhg; 



  M) jpy;yp  

  

 ,) rpf;fpk; 

             <) m];]hk; 

59. What is a direct Democratic device  that acts as a device to protect the interests of 

        minorities?

      
 a) Referendum 


b)  People startup 


c) The right to redemption 

d)  Judgement of the people
   rpWghd;ikapdupd; ed;ikia ghJfhf;Fk; fUtpahf nray;gLk; Neub kf;fshl;rp 

   fUtp vJ?

 
 m) kf;fs; thf;nfLg;G              M) kf;fs; Jtf;fk;   

  
 ,) kPl;Gupik 



 <) kf;fs; jPu;g;G 
60.  What is veto power ?

        
a) Indicates contact with people 
      b) Referendum  


c) Indicates the welfare of minorities 
      d) Indicates the activity of political parties. 

  kWg;ghiz mjpfhuk; vd;gJ vd;d?

m) kf;fSld; njhlu;ig Fwpf;Fk; 

M) kf;fs; jPu;g;G 

,) rpWghz;ikapdupd; eyidf; Fwpf;Fk; 

<) murpay; fl;rpfspd; eltbf;ifia Fwpf;Fk; 
UNIT – V

1. What kind of legal system is followed in UK?


a. Civil law system 



b. General law
      c. Equivalent legal system  


d. None of the above

   ve;j khjpupahd rl;lKiw ,q;fpyhe;jpy; gpd;gw;wgLfpwJ?


m) Fbikapay; rl;lKiw  

M) nghJr;rl;l Kiw

,) rkkhd rl;lKiw 

 
<) Nkw;fz;ltw;wpy; vJTkpy;iy

2. Who makes the law in UK ?


a. Assembly   
  b. Court               c. Administration 

d. Legal committee

    ,q;fpyhe;jpy; ahH rl;lj;ij ,aw;WfpwhHfs;?

   
m) rl;lkd;wk; 
M) ePjpkd;wk;    ,) epHthfj;Jiw 
 <) rl;lf;FO

3. How long can the aristocracy delay bills other than the finance bill?

 
  a.  Two months 
 b.  One month            c.  Two years 
        d.  One year
     epjp kNrhjhitj; jtpu kw;w kNrhjhf;fis gpuGf;fsit vt;tsT fhyk;
   jhkjpf;fyhk;?

   
m) ,uz;L khjq;fs; 
M) xU khjk;  ,) ,uz;L Mz;Lfs; <) xU tUlk;

4.  What is litigation?

  
a. This paves the way for the rule of law to be established when ministers resign


b.   Makes way to follow unwritten legal guidelines


c.  Paves the way for parliament to convene 


d. Written law system for the king to rule.

  tof;fhW vd;gJ vd;d?
          m) mikr;rHfs; ,uh[pdhkh nra;Ak;NghJ rl;lj;jpd; Ml;rpia epWt ,J

        toptif nra;fpwJ.
     M) vOjglhj rl;l topKiwfis gpd;gw;w toptif nra;fpwJ.

     ,) ghuhSkd;wk; $Ltjw;F toptif nra;fpwJ.

     <) kd;dH Ml;rp nra;tjw;fhd vOjg;gl;l rl;lKiw.

5. Under no circumstances does the UK Supreme Court take up appeal case?


a. Welfare related cases


b. Cases related to the operation of country views


c. Cases involving criminal cases


d. Cases involving human rights

   ve;j #o;epiyfspy; ,q;fpyhe;J cr;r ePjpkd;wk; Nky;KiwaPl;L tof;Ffis

   tprhuizf;F vLj;Jf;nfhs;fpwJ?
    
m) nghJey rk;ge;jg;gl;l tof;Ffis

    
M) ehl;bd; fl;rpfs; nray;gLtjd; rk;ke;jkhd tof;Ffs;
     
,) Fw;w tof;Ffs; rk;ke;jg;gl;l tof;Ffs;

     
<) kdpj cupikfs; rk;ke;jg;gl;l tof;Ffs;
6.   What was the effect of the 2005 constitutional reform of the UK?

        
 a. Lords they were abolished

       
 b. Stopped at the court of appeal

        
 c. The Lords of England paved the way for them or the course to seek justice

      
 d. The nobles abolished them and gave effect to the Supreme Court and to appeal

   2005 Mk; Mz;L ,q;fpyhe;J murpayikg;G rPHjpUj;jj;jpd; tpisT vd;d?

   
 m) gpuGf;fsit xopf;fg;gl;lJ.
   
 M) Nky;KiwaPl;L ePjpkd;wj;ij epWj;jpaJ.

        
   ,) ,q;fpyhe;J kf;fs; gpuGf;fsitNah my;yJ ePjpkd;wj;ijNa mZfp ePjp 

         gupgyhdk; ngw toptif nra;jJ.
 
   <) gpuGf;fsit xopf;fg;gl;L cr;rePjpkd;wj;jpy; kl;Lk; Nky;KiwaPL
         nra;tjw;fhd tpisit je;jJ.

7. Which is the highest  court of the united state?

   
a. Senate 
               b. Congress 

  c. Supreme court 
d. President

  mnkupf;f ePjpJiwapd; jiyik ePjpkd;wk; vJ? 

   
m) nrdl; 
 M) fhq;fpu]; 
 ,) cr;rePjpkd;wk; 
<) FbauR jiytH
8. Which  is the highest  court of  India?

     
a. High court           b. Supreme court     c. Parliament       d. Republic house

   ,e;jpahtpd; jiyik ePjpkd;wk; vJ?

     
m) caHePjp kd;wk; M) cr;rePjp kd;wk; ,) ghuhSkd;wk; <) FbauR khspif
9.  Who appointed  the Chief Justice  of  India?

 
a. Prime Minister 
b. Governor           c. President 
d. By parliament

  ,e;jpahtpd; jiyik ePjpgjp ahuhy; epakpf;fg;gLfpwhH?

     
m) gpujkH 
     
M) ftHdH ,) FbauR jiytH 
<) ghuhSkd;wj;jhy;
10. Whig  party in which country?


a. England  
     b. America

  c. France

d. India

   tpf; fl;rp ve;j ehl;by; cs;sJ?

    
m) ,q;fpyhe;J 
M) mnkupf;fh 
,) gpuhd;];

<) ,e;jpah
11. Which is the oldest party in America?

         
a. Democratic party
b. Labour party      c. Republic party
 d. None of the above

  mnkupf;fhtpd; kpfg; goikahd fl;rp vJ?

       
m) [dehaf fl;rp 

M) njhopyhsH fl;rp

,) FbauR fl;rp 

<) Nkw;fz;ltw;wpy; vJTkpy;iy
12. What is the party system in France?


a. A one party regime 
   b. Bi - party  rule      
c. Multi party regime     d. Military rule

   gpuhd;]; ehl;by; cs;s fl;rp Kiw

    
m) xU fl;rp Ml;rp Kiw 

M) ,U fl;rp Ml;rp Kiw
  
,) gyfl;rp Ml;rp Kiw 

<) ,uhZt Ml;rp Kiw
13.  Which is the oldest party in India?


a. Bharathiya Janatha  Party   

b. Janata Party


c. Communist Party 


d. Indian National Congress party
        ,e;jpahtpy; cs;s goikahd fl;rp

   
 m) ghujpa [djh fl;rp 


M) [djh fl;rp
  
 ,) fk;a+dp];l; fl;rp 


<) ,e;jpa Njrpa fhq;fpu]; fl;rp
14. What is the Party system followed in China?

    
 a. A one party regime 


b. Multi party regime


 c. Bypartisian rule 



d. There is no party rule system

      rPdhtpy; gpd;gw;wg;gLk; fl;rp Kiw?
       
m) xU fl;rp Ml;rp Kiw 
     M) gyfl;rp Ml;rp Kiw
   
,) ,U fl;rp Ml;rp Kiw

 <) fl;rp Ml;rpKiw ,y;iy
15.  In which year was the Indian National Congress launched?

     
a.1983 
 
    b. 1884
  c. 1885 
  d. 1886

   ,e;jpa Njrpa fhq;fpu]; ve;j Mz;L njhlq;fg;gl;lJ?

     
m) 1983
 M) 1884
,) 1885
 <) 1886
16. What is the rule of the law?


a.  Following the unwritten laws


b. To rule according to the written constitution

    
c. To rule through the military


d. To rule by Chancellor system

  rl;lj;jpd; gb Ml;rp vd;gJ?

    m) vOjglhj rl;lq;fis gpd;gw;WtJ

    M) vOjg;gl;l murpayikg;gpd;gb Ml;rp nra;tJ

    ,) ,uhZt topahf Ml;rp nra;tJ

    <) mjpgH Kiw Ml;rp nra;tJ

17. To whom is the mercy petition sent in India?

      
 a. To the Governor  
     

b. To the Chief Justice of the Supreme court

         
c. To the Prime Minister 

d. To the President of the Republic
   ,e;jpahtpy; fUiz kD ahuplk; mDg;ggLfpwJ?

   
m) MSeuplk; 

  
M) cr;r ePjpkd;w jiyik ePjpgjpaplk;

      
,) gpujkuplk; 


<) FbauR jiytuplk;
18.  What is known as the 1793, June 24 Constitution?


a. Mantaknard Constitution 

 b. French Constitution

c. Japan Constitution  


d. None of the above

   1793> [_d;> 24 murpayikg;G vd;dthf mwpag;gLfpwJ?

      
m) khd;lf;dhHL murpayikg;G 

M) gpnuQ;R murpayikg;G
          
,) [g;ghd; murpayikg;G  

<) Nkw;fz;ltw;wpy; vJTkpy;iy
19. Who is the founder of the French Political System in 1940?

          
a. July Single Party
  b. Vicky France       c. July France   
   d. July Austria

   1940 Mk; Mz;bd; gpnuQ;r; murpayikg;ig epWtpaJ?

        
m) [_iy xw;iwahl;rp 

M) tpf;fp gpuhd;];

,) [_iy gpuhd;];
 

<) [_iy M];l;upah
20.   France is related to one of the following?

      

a.  Rule of law




b.  The rule of the citizen



c.  The rule of administrative law 

d.) Unitary
       gpuhd;]; fPo;fz;l xd;NwhL njhlHGilajhfapUf;fpwJ

     

m) rl;lj;jpd; Ml;rp 

M) Fbkf;fspd; Ml;rp
  
,) epHthf rl;lj;jpd; Ml;rp 
 <) xw;iwahl;rp
21. Which adopts the federal laws of the United States?

              a.  Congress 



b.  Spiral Court     

              c. White House        

 
d.  International Court of Justice

      mnkupf;fhtpy; $l;lhl;rp rl;lq;fis vJ ,aw;WfpwJ?

   
m) fhq;fpu]; 


M) Roy; ePjpkd;wk;

   
,) nts;is khspif 

<) gd;dhl;L ePjpkd;wk;
22. Is the rule of law in the United States?

       a. Everyone the president must follow          b.The government is not obliged   to follow

       c. All laws are common to all States             d. Every American must follow        

  mnkupf;fhtpd; rl;lj;jpd; Ml;rp vd;gJ
       m) midtUk; Mdhy; FbauR jiytH fl;lhak; gpd;gw;w Ntz;Lk;

       M) murhq;fk; gpd;gw;w Ntz;ba fl;lhakpy;iy

   ,) midj;J rl;lKk; midj;J khepyq;fSf;Fk; nghJthdJ
   <) xt;nthU mnkupf;fUk; fl;lhak; gpd;gw;WtJ

23. How many Supreme Court judges are there in the United States?

      
a. 9

b. 5   

c.12


d.3

     mnkupf;fhtpy; vj;jid cr;r ePjpkd;w ePjpgjpfs; ,Uf;fpwhHfs;?

      

m) 9 

M) 5

,) 12 

<) 3
24. What are the two main parties that may be in the United States?

       

a. Reform  

                     

b. American and African American    

      

 c. Democratic Republic and the Vic     
d. Democrats and  Republicans
     mnkupf;fhtpy; ,Uf;f$ba ,uz;L Kf;fpa fl;rpfs; vit?

    m) rPHjpUj;jk; kw;Wk; gRik

         M) mnkupf;fH kw;Wk; Mg;gpupf;f mnkupf;fH

    ,) [dehaf FbauR kw;Wk; tpf;

    <) [dehaf kw;Wk; FbauR

25. Whose signature is obtained to become a bill law in the United States?

        
a. Chief Justice of the Supreme
  
b. Vice President        

       

 c. Prime Minister            


d. President of the Republic
mnkupf;fhtpy; kNrhjh rl;lkhtjw;F ahUila ifnaOj;J ngwg;gLfpwJ?
    

m) cr;rePjpkd;w jiyik ePjpgjp 
M) Jiz FbauR jiytH
   

,) gpujkH 




<) FbauR jiytH
26. What is seen as the Supreme law in the United States?

           a. Federal   law    

 
b. United states political  organization

           c.  Declaration of Independence          d.  Declaration of Independence

     mnkupf;fhtpy; cr;r rl;lk; vJthf ghHf;fg;gLfpwJ?
        
m) $l;lhr;rp rl;lk; 

  
M) mnkupf;f If;fpa ehLfs; murpayikg;G
    
,) tpLjiy gpufldk; 

 <) Rje;jpu gpufldk;
27. Who is the Supreme legal officer of India?

          a) Supreme Court Legal     


b)  Attorney General of India
         c) Chief justice of the Supreme Court 
             d) High Court judge

   ,e;jpahtpy; cr;rgl;r rl;l mjpfhup ahH?

       m) cr;r ePjpkd;w ePjpgjp 

     M) ,e;jpa ml;lhHdp n[d;uy;
       ,) cr;r ePjpkd;w jiyik ePjpgjp 
<) caHePjp kd;w ePjpgjp
28. Is the rule of law in India

       

a)  Law followed by government       

      

b) The law that politician follow is higher than the law of the prime Minister     

       

c) The Prime Minister is above the law  

       

d) All are equal before the law

   ,e;jpahtpy; rl;lj;jpd; Ml;rp vd;gJ ?

       

m) muR mjpfhupfs; gpd;gw;Wk; rl;lk;
      

M) murpay;thjpfs; gpd;gw;Wk; rl;lk; gpujkH rl;lj;ij tpl NkyhdtH
   
,) gpujkH rl;lj;ij tpl NkyhdtH

      

<) midtUk; rl;lj;jpd; Kd; rkk;
29. On What basis can judges be removed in India

       

a.   Incompetence    
 

 b. Abuse of power        

      
 
c.  Giving wrong  judgment
 
 d. All of the above
    ,e;jpahtpy; vjd; mbg;gilapy; ePjpgjpfis ePf;f KbAk;?

       m) jpwikapd;ik 

     M) mjpfhu J];gpuNahfk;
       ,) jtwhd jPHg;gpid jUjy; 
<) Nkw;fz;l midj;Jk;
30. Through which the parties are formed 

      

a. The need of the people  
         

 b. Make Money

      

c. of policy and theory

           d. Dominating

   fl;rpfs; vjd; topahf mikf;fg;LfpwJ?
     

m) kf;fspd; Njitfs; 

     M) gzk; rk;ghjpf;f
     

,) nfhs;if kw;Wk; Nfhl;ghl;bd;  
<) Mjpf;fk; nrYj;Jtjd;
31. Parties are

           a.  Leaders 
b. Acting Members          c.  Followers         d. All of the above
  fl;rpfs; vd;gJ

     

m) jiytHfs; 


M) nray;gLk; cWg;gpdHfs;
  
,) gpd;gw;WgtHfs;
 

<) Nkw;fz;l midj;Jk;
32. Who is the founder of Bahujan Samaj Party?

      

a. Sagu Maharaj
   
b. Jyotibai poole  
   c. Ambedkar
d) Kanshiram
     gF[d; rkh[; fl;rpia Njhw;Wtpj;jtH ahH?
    

m) rhF kfuh[; 
M) N[hjpgha; g+Ny   ,) mk;Ngj;fhH 
<) fd;~puhk;
33. What level of activities do the communist parties have?

      

a. Country-wide
   b.  State   level        c. World-class      d. Continental scale                               

  fk;a+dp];l; fl;rpfs; ve;j mstpyhd nray;ghLfs; nfhz;lit?

  
m) ehL mstpyhd  
 M) khepy mstpyhd

     

,) cyfstpyhd   
<) fz;lq;fstpyhd    
      34. Which Country is the best example of Multi Party rule?

     
a. India 
      b. America 
c. England 

 d. China

  gy fl;rp Ml;rp Kiwf;F rpwe;j vLj;Jf;fhl;lhd ehL vJ?

  
m) ,e;jpah 
M) mnkupf;fh   
,) ,q;fpyhe;J
 <) rPdh
35. Which is the country where coalition rule takes place best?

       
a. Pakistan   

b. China   
c. Srilanka 
 d. India
       $l;lzp Ml;rp rpwg;ghf eilngWk; ehL vJ?

      
m) ghfp];jhd; 
M) rPdh 
,) ,yq;if
 <) ,e;jpah
36. Assigning the logo to the parties in India 

       
a. Supreme court

 

b. Parliament     

       
c. President of the Republic  
 

d. Election Commission
   ,e;jpahtpy; fl;rpfSf;F rpd;dk; xJf;FtJ vJ?

       
m) cr;r ePjpkd;wk; 


M) ghuhSkd;wk;

        
,) FbauR jiytH 


<) NjHjy; Mizak;
37. In which year was the Communicate Party of India launched?

         
a.1924 

b.1925
 
c.1926 

d.1927

   ,e;jpa fk;a+dp];l; fl;rp ve;j Mz;L njhlq;fg;gl;lJ?
        
m) 1924 
M) 1925 
,) 1926 
<) 1927 
38. Who is the founder of the  Republican Party of  India?

        
a. Gandhiji 

b. Nehruji 

c. B.R Ambedkar
d. Vallabhai Patel

       ,e;jpa FbauR fl;rpia epWtpatH ahH?

        
m) fhe;jp[p 

M) NeU[p 
,) gp.MH.mk;Ngj;fH <) ty;ygha; gNly; 
.

39. Dravida Munnetra Kazhagam is a party 


 a. National Party       b. World party       c. South India party  
d. State party

      jpuhtpl Kd;Ndw;w fofk; XH ------------ fl;rp
    
m) Njrpa fl;rp 
M) cyf fl;rp   ,) njd;dpe;jpa fl;rp <) khepy fl;rp
40. In which year was the Marxist Communist party founded?

      
a. 1964
 
b. 1965 
c. 1966 
d. 1967

     khHf;rp];l; fk;a+dp];l; fl;rp ve;j Mz;L epWtg;gl;lJ?
    
m) 1964 
M) 1965  
,) 1966 
<) 1967
41. The Indian Jana Sangam became the party behind which

       
a. Congress         
b. Republic 


 c. Shivasena       
d. Bharatiya Janata Party 

   ,e;jpa [d rq;fk; gpd;dhspy; ve;j fl;rpahf khwpaJ?

       
m) fhq;fpu];   M) FbauR fl;rp    ,) rptNrdh   <) ghujpa [djh fl;rp

42. Who is the founder of  Bharatiya Janata Party?

       
a. Bharatiya Janata Sangam 

b. Shyam Prasath Mukerji
      
c. Mamta Banerji


d. Deendhayal Ubathiya

      ghujpa [djh fl;rpia Njhw;Wtpj;jtH ahH?

     
m) ghujpa [d rq;fk; 

M) rpahk; gpurhj; KfH[p
   
,) kk;jh ghdH[p 


<) jPd;jahs; cgghj;jpah
43. Which is the dominated Party in China?

         
a. In the Chinese Democratic Party           
   b. Consuine Party

        
 c. Chinese Communist Party  

    d. Republican party of china

        rPdhtpy; Mjpf;fk; nrYj;Jk; fl;rp vJ?

       
m) rPd [dehaf fl;rp    

M) fd;Arpad; fl;rp
    
,) rPd fk;a+dp];l; fl;rp  


 <) rPd FbauR fl;rp

44.  Is the Party system in the UK

           a. Two Party System   b. A Party System    c. Multi Party System
  d. No Parties

       ,q;fpyhe;jpy; fl;rpKiw vd;gJ
    
m) ,uz;L fl;rp Kiw 
  

M) xU fl;rp Kiw

    
,) gyfl;rp Kiw 

   

<) fl;rpfNs ,y;iy

45. Who elected its leader as Prime Minister on behalf of the labor party of      

      England?

             a. Tony Blair       b. John Major      c. Winston Churchill        d. Lord Autley

   ,q;fpyhe;jpy; njhopyhsH fl;rpapd; rhHgpy; mjd; jiytH gpujkuhf

   NjHe;njLf;fg;gl;ltH ahH?

     m) Nlhdp gpNsaH M) [hd; Nk[H  ,) tpd;];ld; rHrpy;  <) ml;yp gpuG

46. The court of England accepts the law passed by who?

       
a. Ministry 

b. Department of Justice           c. Parliament
d. King

  ,q;fpyhe;J ePjpkd;wk; ahH ,aw;wpa rl;lj;ij Vw;Wf; nfhs;fpwJ?
       
m) mikr;ruit 

     M) ePjpj;Jiw
     
,) ghuhSkd;wk; 


 <) murH
47.  How many types of courts are there in the U.K?

        
a. Three
            b. Two 
c. Four

d. Five

      vj;jid tifahd ePjpkd;wq;fs; ,q;fpyhe;jpy; cs;sd?

    
m) %d;W 
M) ,uz;L  
,) ehd;F 
<) Ie;J

48. How many Political Parties are there in the U.K?

         
a.10 

b.11

c.12

d.13

      vj;jid murpay; fl;rpfs; ,q;fpyhe;jpy; cs;sd?

       
m) 10 

M) 11

,) 12 
<) 13
49. The two main parties in the U.K?

             a. Labour party and conservative party        b. Green party and Labour party

             c. Conservative party and Liberal party        d. None of the above

  ,q;fpyhe;jpy; cs;s ,uz;L Kf;fpa fl;rpfs; vJ?

   
m) njhopyhsH fl;rp kw;Wk; fd;rHNtbt; fl;rp 

   
M) gRik fl;rp kw;Wk; njhopyhsH fl;rp

   
,) fd;rHNtbt; fl;rp kw;Wk; ypguy; fl;rp

       
<) Nkw;fz;ltw;wpy; vJTkpy;iy
 50. Which year the labour party was started?

          
a. A.D 1600 
   b. A.D 1800

c. A.D 1900

d. A.D 2000

    njhopyhsH fl;rp njhlq;fg;gl;l Mz;L?
        
m) fp.gp 1600 
M) fp.gp 1800

,) fp.gp 1900 
<) fp.gp 2000
51. Who started the Labour Party?


  a. Robert peel
b. Hair hurty      c. Cirlis Williams
d. Winston Churchill

   njhopyhsH fl;rpia njhlq;fpatH ahH?

    
m) uhgHl; gPy;
 

 M) nfapH `Hb
          
,) rpHyp]; tpy;ypak;]; 
  
 <) tpd;];ld; rHl;rpy; 
 52. The year the Conservative party was started?

       
a. A.D 1800

 b. A.D 1834 

c. A.D 1840 

d. A.D 1850
   fd;rHNtbt; fl;rp njhlq;fg;gl;l Mz;L

     
 m) fp.gp 1800 
M) fp.gp 1834 
,) fp.gp 1840 
<) fp.gp 1850
 53. Who started the Conservative party?

       
a. Robert Peel

b. Keyer Hardy       
  c. Cirlis Williams  

d. John Major

         fd;rHNtbt; fl;rpia njhlq;fpatH ahH?
      
m) uhgHl; gPy; 

  M) nfapH n`Hb
   
,) rpHyp]; tpy;ypak;];
   <) [hd; Nk[H
 54.  Who started the Bachan Bacho Andolan System?


    a. Metha Batsu         b. Kailash Satyarthi      
c. Siddhu Kansval       d. Arundhathirai

   gr;gd; ghr;Nrh me;Njhyd; mikg;ig njhlq;fpatH?
   
m) Nkjh gl;Rh 
 
M) ifyh~; rj;ahHjp
     
,) rpj;J fd;];thy; 
 <) mUe;jjpuha;
55. Functions of the Pressure group?

       
 a. Creating Government       

      
 b. Pressure the government for selfishness

      
 c. Putting Pressure on the government for the benefit of the people

   
d. Creating By-election
   mOj;jk; FOtpd; nray;ghLfs;

      
m) murhq;fj;ij cUthf;FtJ 

   
M) Raeyj;jpw;fhf murhq;fj;jpw;F mOj;jk; nfhLg;gJ 

   
,) kf;fs; eydpw;fhf murhq;fj;jplk; mOj;jk; nfhLg;gJ 

       
<) ,ilj;NjHjy;fis cUthf;FtJ

56. Who started the Chipko Movement?

      
a. Metha patkar            b. Arundhathirai     c. Sundarlal Paguna
d. Kailash

     rpg;Nfh ,af;fj;ij njhlq;fpatH

      
m) Nkjh gl;fH  
M) mUe;jjpuha;      ,) Re;jHyhy; gFFdh   <) ifyh
57. Pressure Groups are


a. Political System     



b. Economic System


c. Social System
          


d. Social Welfare System
      mOj;j FOf;fs; vd;git

      
m) murpay; mikg;G 


M) nghUshjhu mikg;G
      
 ,) r%f mikg;G 

 

<) kf;fs; ey mikg;G
58. Who started the Narmada Bacho Andolan system?

        
a. Sundarlal Paguna
b. Arundhathirai          c. Metha patkar     d. Kailash Sathiyaraj

     eHkjh gr;Nrh me;Njhypd; vd;w ,af;fj;ij njhlq;fpatH ahH?

      
m) Re;jHyhy; gFFzh 


M) mUe;jjpuha;
       
,) Nkjhgl;fH 



<) ifyh~; rj;ahH[p
59. Acting as a Pressure team in companies for employees?

      
 a. Bussiness groups



b. Welfare communities

       
c. Private groups



d. Labour groups
    gzpahsHfSf;fhd epWtdq;fspy; mOj;j FOthf nray;gLtJ?

    m) tzpf FOf;fs; 



M) nghJey FOf;fs;

    ,) jdpahH FOf;fs; 



<) njhopyhsH FOf;fs;
60. What is the All India Trade Union Confederation?

     
a. Political Party 



b. Labour Party    

     
c. Pressure committee for workers 

d. Left-wing Party

   mfpy ,e;jpa njhopw; rq;f $l;likg;G vd;gJ?


m) murpay; fl;rp 



M) njhopyhsH fl;rp


,) njhopyhsHfSf;fhd mOj;j FO
<) ,lJrhup fl;rp
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